
CHEMISTRY

BOOKS - MODERN PUBLISHERS CHEMISTRY (HINGLISH)

HALOALKANES AND HALOARENES

Solved Examples

1. Write the IUPAC names of the following compounds: 

View Text Solution

2. Write the IUPAC names of the following compounds: 

View Text Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_U41Qz50Zl92U
https://dl.doubtnut.com/l/_h2jT4WxqjZJb


3. Write structures of the following compounds: 

(i) 2-Chloro-3-methylpentane 

(ii) 1-Chloro-4-ethylcyclohexane 

(iii) 4-tert. Butyl-3-iodoheptane 

(iv) 1,4-Dibromobut-2-ene 

(v) 1-Bromo-4-sec. butyl-2-methylbenzene.

Watch Video Solution

4. Draw the structures of all the eight structural isomers that have the

molecular formula  Br. Name each isomer according to IUPAC

system and classify them as primary, secondary or tertiary bromide.

Watch Video Solution

C5H11

5. Write structural formulae and give IUPAC names of isomers of 

Watch Video Solution

C4H8Cl2

https://dl.doubtnut.com/l/_h2jT4WxqjZJb
https://dl.doubtnut.com/l/_1GWMtgKzZKoB
https://dl.doubtnut.com/l/_hGNjiNnS2CnT
https://dl.doubtnut.com/l/_nC4mPiuxRCCf


6. Write the structure of the major product and IUPAC name in each of

the following reactions : 

(i)  


(ii)  


(iii) 


(iv)  


(v)  


(vi)  


(vii)  


(viii) 

Watch Video Solution

CH3CH2CH2Cl + NaI
Acetone
−−−−→

Heat

CH3CH2Cl + SbF3

Heat
−−→

CH3CH2CH2OH + SOCl2 →

CH3CH2CH = CH2 + HBr
Peroxide
−−−−→

CH3CH2 C
∣

CH3

= CH2 + HBr
No Peroxide
−−−−−−→

CH3CH2CH2Br + Hg2F2 →

CH3CH2C ≡ CH + HCl(1-equiv) →

CH3CH = CH2 + Cl2
773 − 873k
−−−−−→

7. Draw the structures of major monohalo products in each of the

following reactions : 

Vi T t S l ti

https://dl.doubtnut.com/l/_nC4mPiuxRCCf
https://dl.doubtnut.com/l/_viBe1XKRqXGJ
https://dl.doubtnut.com/l/_lDK6KPsxXjKL


View Text Solution

8. Draw and name all monochloro products you would expect to obtain

from free radical chlorination of 2-methyl pentane.

Watch Video Solution

9. Write the products of the following reactions : 

(i)  


(ii)  


(iii)  

(iv)  


(v) 

View Text Solution

CH3CH2 − CH = CH2 + HCl →

Me2CHCH2OH
SOCl2
−−−→

Me2C = CMe2

Br2
−−→

10. Draw the structures of the major monohalo product in each of the

following: 

https://dl.doubtnut.com/l/_lDK6KPsxXjKL
https://dl.doubtnut.com/l/_yXDfYtVD7dOU
https://dl.doubtnut.com/l/_ZgKR7atmFC8P
https://dl.doubtnut.com/l/_k7417aKPk9Un


View Text Solution

11. Identify chiral and achiral molecules in each of the following pairs of

compounds : 

View Text Solution

12. (a) Out of  , which one is optically active and why? 

(b) Which alkyl halide from the following pair undergoes faster 

reaction with ? 


 or  


(c) Which one of the following reacts faster in an  reaction? 


 

(d) Out of  and  which occurs with 


(i) Inversion of configuration 

(ii) Racemisation 

SN2

OH −

CH3Br CH3I

SN1

SN1 SN2

https://dl.doubtnut.com/l/_k7417aKPk9Un
https://dl.doubtnut.com/l/_mSvD8gLaUUe3
https://dl.doubtnut.com/l/_VIBBrzPb19qn


(e) Write the structure of alkene formed by dehydrohalogenation of 1-

bromo-1-methylcyclohexane with alcoholic KOH.

View Text Solution

13. Complete the following reactions (giving major products): 

(a)  


(b)  


(c)  


(d)  

(e)  


(f)  


(g) 

View Text Solution

CH3CH2COOAg
Br2

−−→ ?
alc .KOH
−−−−−→

?
P ,Br2

−−−→ CH3C
∣

Br

HCH3

alc .KOH
−−−−−→ ?

HBr
−−−−→
Peroxide

CH3CH2CH2Cl
CH3C≡CNa
−−−−−−−→

CH3 C
∣

CH3

HI
Na

−−−−−→
Dry ether

CH3CH = CH2
HBr
−−→ ?

aq .KOH
−−−−→ ?

CH3CH2Br + KOH(alc) →

14. Predict the order of reactivity of the following compounds in  and 

 reactions : 


SN1

SN2

https://dl.doubtnut.com/l/_VIBBrzPb19qn
https://dl.doubtnut.com/l/_znGkdSmVu9Z6
https://dl.doubtnut.com/l/_uNC98iJO4akD


(a) The four isomeric bromobutanes 

(b) 

Watch Video Solution

C6H5CH2Br, C6H5CH(C6H5)Br, C6H5CH(CH3)Br, C6H5C(CH3)(C6H

15. (a) In the following pairs of the halogen compounds, which would

undergo  faster ? 


 

(b) Which one of the following pairs undergoes  substitution

reaction faster and why? 

View Text Solution

SN2

SN1

16. Which compound in each of the following pairs will react faster in

 reaction with  ? 


a.  or  


SN 2 HO−

CH3Br CH3I

https://dl.doubtnut.com/l/_uNC98iJO4akD
https://dl.doubtnut.com/l/_bpFqrYsK066a
https://dl.doubtnut.com/l/_7ap96V52BRKc


b.  or  


c.  or 

Watch Video Solution

(CH3)3CCl CH3Cl

CH2 = CHBr CH2 = CH − CH2Br

17. Predict the order of reactivity of the following compounds in

dehydrohalogenation: 

(a) 

(b) 

Watch Video Solution

CH3CH2CH2CH2Cl, (CH3)2CHCH2Cl, (CH3)2CH − CH2Br, CH3CH

CH3CH(Br)CH3, CH3CH2CH2Br, (CH3)2CHCH2Br, (CH3)3CCH2Br

18. A chloro derivative (A) on treatment with zinc - copper couple gives a

hydrocarbon with five C atoms. When 'A' is dissolved in ether and treated

with sodium, 2,2,5,5-tetramethyl hexane is obtained. What is the original

compound 'A' ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_7ap96V52BRKc
https://dl.doubtnut.com/l/_PTqgnvyY09yg
https://dl.doubtnut.com/l/_7sZZFKzz2L6g


Watch Video Solution

19. What products would you expect from the elimination of the following

alkyl halides, which product will be major in each case : 

(i) 2-Bromo-2-methylbutane (ii) 3-Bromo-2,3,5-trimethylhexane (iii) 

View Text Solution

20. Although chlorine is an electron withdrawing group, yet it is ortho-,

para- directing in electrophilic aromatic substitution reactions. Why?

Watch Video Solution

21. (a) Write the structure of the major product in each of the following: 

 (b) Write the structure of the product formed when chlorobenzene is

treated with methyl﻿ chloride in the presence of﻿ sodium metal and dry

ether.

View Text Solution

https://dl.doubtnut.com/l/_7sZZFKzz2L6g
https://dl.doubtnut.com/l/_3yDRxJIOIGno
https://dl.doubtnut.com/l/_V3gmwNKgfB7i
https://dl.doubtnut.com/l/_mZx6AnMZYt8s


22. How will you carry out the following conversions in not more than two

steps: 

(i) Toluene to benzyl alcohol (ii) Ethanol to ethyl fluoride (iii) Benzene to

biphenyl 

(iv) 1-Chlorobutane to n-octane (v) Benzyl alcohol to phenylethanenitrile

(vi) But-1-ene to But-2-ene

Watch Video Solution

23. Arrange the following in increasing order of their expected 

reactivity : 

(i) 

(ii) 

(iii) 

Watch Video Solution

SN1

CH3CH(Br)CH3, CH3CH2Br, CH2 = CHBr, CH2 = CHCH(Br)CH3

ClCH2CH = CHCH2CH3, CH3C(Cl) = CHCH2CH3, CH3CH = CHC

(CH3)3CCl, C6H5C(CH3)2Cl, (CH3)2CHCl, CH3CH2CH2Cl

https://dl.doubtnut.com/l/_mZx6AnMZYt8s
https://dl.doubtnut.com/l/_qnIMIlrIJGVm
https://dl.doubtnut.com/l/_IATcPRUaPxKj


24. The following compounds ar given to you 

2-Bromopentane,2-Bromo-2-methylbutane,1-Bromopentane 

(a) Write the compound which is most reactive towards  reaction. 


(b) Write the compound which is optically active. 

(c). Write the compound which is most reactive towards -elimination

reaction.

Watch Video Solution

S2
N

β

25. Propose mechanism of the reaction taking place when 

(a) (-)-2-Bromooctane reacts with sodium hydroxide to form (+)-octane-2-

ol. 

(b) 2-Bromopentane is heated with (alc.) KOH to form alkenes.

Watch Video Solution

https://dl.doubtnut.com/l/_IATcPRUaPxKj
https://dl.doubtnut.com/l/_Q3h2GCNdVWZk
https://dl.doubtnut.com/l/_1XQu4WDbqONi


26. How will you convert the following: 

(i) Isopropyl chloride to n-propyl chloride (ii) Methyl bromide to

ethylamine 

(iii) Chlorobenzene to benzoic acid (iv) Methyl bromide to acetic acid 

(v) Propane to allyl chloride (vi) 1-Bromopropane to 2-bromopropane 

(vii) Propene to propyne (viii) Ethanol to but-1-yne

Watch Video Solution

27. How will you distinguish between the following (give one chemical

test):﻿ 

(a) Chlorobenzene and chlorocyclohexane﻿ 

(b) Chlorobenzene and benzyl chloride﻿ 

(c) Ethyl chloride and vinyl chloride﻿ 

(d) Chlorobenzene and n-hexylchloride﻿ 

(e) Chloroethane and bromoethane﻿ 

(f) 3-Bromopropene and 1-bromopropane.﻿

Watch Video Solution

https://dl.doubtnut.com/l/_erRYlS8xVS3N
https://dl.doubtnut.com/l/_tBU6lav984vJ


Practice Problems

1. Give the structural formula and IUPAC names of (a) iso-butyl iodide (b)

tert-amyl bromide (c) sec-butyl bromide.

Watch Video Solution

2. Write the structures of the following compounds and identify them as

,  or  halides. 


(a) 1-Bromo-2-methylpropane (b) 2-Chloro-2-methylpropane (c) 2-Bromo-3-

methylbutane 

(d) 3-Bromopentane (e) 2-Bromo-2-methylbutane (f) Neopentyl chloride.

Watch Video Solution

1∘ 2∘ 3∘

3. Write the structures of the following dihaloalkanes and identify them

as gem or vicinal, if any: 

https://dl.doubtnut.com/l/_tBU6lav984vJ
https://dl.doubtnut.com/l/_rUWRfSRc0tJo
https://dl.doubtnut.com/l/_XUpsI4BiIA9O
https://dl.doubtnut.com/l/_T8zWmZemcosH


(a) 2, 3-Dichlorobutane (6) 2,2-Dichlorobutane (c) 1,4-Dichlorobutane 

(d) 1,2-Dichlorobutane (e) 1,3-Dichloro-2-methylpropane.

Watch Video Solution

4. Write all the possible isomers of compound  and give their

IUPAC names.

Watch Video Solution

C4H9Br

5. Classify the following as alkyl, vinyl, allyl or aryl halides : 

(i)  (ii)  (iii) H2C = CHCHI2 CH3CH = CFCH2CH3

https://dl.doubtnut.com/l/_T8zWmZemcosH
https://dl.doubtnut.com/l/_zobDITG6nJco
https://dl.doubtnut.com/l/_8FWhDcMr5TZZ


 


(iv)  (v)  (vi) 

Watch Video Solution

(CH3)2CClCH2CH3 (CH3)2C = CHCH2Br C6H5Br

6. Write IUPAC names of the following compounds : 

(i)  (ii)  (iii) 

 


(iv)  (v) 

 


CHF2CBrClF ClCH2C ≡ CCH2Br

CH3CH = CH −

CH3

∣

C
∣

Br

− CH3

(CH3)2C = CHCH2Cl

(CH3)3CCH(Cl)CH(CHBrCH3)CH2CH2CH(CH3)2

https://dl.doubtnut.com/l/_8FWhDcMr5TZZ
https://dl.doubtnut.com/l/_6FWGqL5MTmR5


(vi)  (vii) 

Watch Video Solution

CH3 −

CH3

∣

C
∣

CH3

− Cl

7. Write IUPAC names of the following compounds : 

(a) 


(b) 


CH3CH(Cl)CH(Br)CH3

CHF2CBrClF

https://dl.doubtnut.com/l/_6FWGqL5MTmR5
https://dl.doubtnut.com/l/_cmwSH0U4wg65


(c) 


(d) 


(e) 


(f) 


(g) 


Watch Video Solution

ClCH2C ≡ CCH2Br

(CCl3)3CCl

CH3C(p − ClC6H4)2CH(Br)CH3

(CH3)3CCH = C(Cl)C6H4I − p

CH3CHCl(CH2)2CCl2C2H5

8. Identify all the possible monochloro structural isomers expected to be

formed on free radical monochlorination of .

Watch Video Solution

(CH3)2CHCH2CH3

9. From each of the following pairs, predict which compound will have

higher boiling point: 

(i) isopropyl bromide and n-propyl bromide (ii) bromoethane and

iodoethane 

(iii) tert-butyl chloride and tert-butyl iodide (iv) iso-propyl bromide and n-

butyl bromide

https://dl.doubtnut.com/l/_cmwSH0U4wg65
https://dl.doubtnut.com/l/_b3naTiBLEB0X
https://dl.doubtnut.com/l/_kexdjHbQQiQV


Watch Video Solution

10. Arrange the following in the increasing order of boiling point: 

(i)  (ii)  (iii)  (iv) 

Watch Video Solution

(CH3)3CBr CH

Br

∣

CHCH2CH3 CH3CH2CH2CH2Br

(CH3)3C − Cl

11. Which isomer of  will have the lowest boiling point?

Watch Video Solution

C4H9Cl

12. Which of the following metal is used in the preparation of Grignard's

reagent?

Watch Video Solution

https://dl.doubtnut.com/l/_kexdjHbQQiQV
https://dl.doubtnut.com/l/_8kCAjrPcMUAW
https://dl.doubtnut.com/l/_5Yjy0wZRvZOl
https://dl.doubtnut.com/l/_T08BaLpQFvkf


13. Which of the following is most reactive alcohol for its reaction with

HCl ? 

(a)  (b)  (c) 

Watch Video Solution

(CH3)3COH (CH3)2CHCH2OH CH3 C
∣

OH

HCH3

14. Name the reagents which can convert 

(a). 1-Chloropropane into 1-Nitropropane (b) Bromoethane to But-1-yne 

(c). Bromoethane to Butane.

Watch Video Solution

15. Select the compound in each of the following pairs that can be

converted to corresponding alkyl bromide more rapidly on being treated

with hydrogen bromide : 

l(i) 1-butanol or 2-butanol (ii) 2-methyl-1-butanol or 2-butanol 

(iii) 2-methyl-2-butanol or 2-butanol

https://dl.doubtnut.com/l/_bY2bb8TB7oMl
https://dl.doubtnut.com/l/_k9buwkx9mdcC
https://dl.doubtnut.com/l/_k0582RNCqC1n


Watch Video Solution

16. Which will be the main product when the following haloalkanes are

treated with alcoholic KOH ? 

(i) 2-bromobutane (ii) 

Watch Video Solution

CH3CH2C(CH3)2Cl

17. Predict all the alkenes that would be formed by dehydrohalogenation

of the following halides with sodium ehoxide in ethanol and indentify

major alkene. 

a.  Bromo  mehylecyclohexane 


b. Chcolhexylmethyl bromide 

c.  Chloro  ilutane 


d.  Bromopent  ene 


e.  Trimethyl  bromopentane.

Watch Video Solution

I − −1 −

2 − −2 −

3 − 1 −

2, 2, 3 − 3 −

https://dl.doubtnut.com/l/_k0582RNCqC1n
https://dl.doubtnut.com/l/_YLPf6WnPzTB1
https://dl.doubtnut.com/l/_RgTAh90LR8g7
https://dl.doubtnut.com/l/_EtRR3hnwtg3G


18. Which out of o-chloronitrobenzene and 2, 4, 6-trinitrochlorobenzene is

more reactive towards nucleophilic substitution?

Watch Video Solution

19. Write the structure of diphenyl. How is it prepared from

chlorobenzene?

Watch Video Solution

20. Which of the following is an aryl halide ? 

Watch Video Solution

21. Which of the following will be least reactive towards nucleophilic

substitution reaction ?

https://dl.doubtnut.com/l/_EtRR3hnwtg3G
https://dl.doubtnut.com/l/_bqifujxb1Ehc
https://dl.doubtnut.com/l/_zT4WTsUwsZOA
https://dl.doubtnut.com/l/_LXg0hwxNWHO8


A. 

B. 

https://dl.doubtnut.com/l/_LXg0hwxNWHO8


C. 

D. 

Answer:

https://dl.doubtnut.com/l/_LXg0hwxNWHO8


Watch Video Solution

22. Write the possible isomers of the aromatic compound having

molecular formula . Which of these will have weakest C-Cl bond ?

Watch Video Solution

C7H7Cl

23. Identify X, Y and Z in the following reactions : 

(a)  


(b)  


(c) 

Watch Video Solution

C6H5NH2
NaNO2

−−−−→
HCl

X
CuBr
−−→
HBr

Y
NaOH

−−−−−−−−→
623 K, pressure

Z

C6H6
Cl2 .FeCl3
−−−−−→ X

CuCN
−−−→ Y

dil .HCl
−−−−→
H2O

Z

C6H5N
+

2 Cl− KI
−−→
warm

X
Cu

−−→ Y

24. Give reagents, inorganic or organic compound needed to convert

benzyl bromide into 

(i) benzyl iodide 

(ii) benzyl ethyl ether 

https://dl.doubtnut.com/l/_LXg0hwxNWHO8
https://dl.doubtnut.com/l/_M9qa7ZyHJhrP
https://dl.doubtnut.com/l/_GOQdA7WLAMRl
https://dl.doubtnut.com/l/_6GhhGntWFz1I


(iii) benzyl alcohol 

(iv) benzyl cyanide 

(v) benzyl acetate 

(vi) (nitromethyl) benzene

Watch Video Solution

25. How are nitrochlorobenzene and chlorobenzene sulphonic acid are

prepared from chlorobenzene?

Watch Video Solution

26. In each of the following pairs of compounds, which will give iodoform

test ?﻿ 

(a) Sec-butyl alcohol and tert-butyl alcohol (b) Ethyl alcohol and isopropyl

alcohol﻿ 

(c) Formaldehyde and acetaldehyde﻿ (d) Methylpropyl ketone and diethyl

ketone.﻿

W t h Vid S l ti

https://dl.doubtnut.com/l/_6GhhGntWFz1I
https://dl.doubtnut.com/l/_xziDLlCVAybD
https://dl.doubtnut.com/l/_zaRmgdjRSCTP


Watch Video Solution

27. How will you distinguish between ethyl chloride and vinyl chloride?

Watch Video Solution

28. Name the product obtained when chloroform reacts with (a) nitric

acid (b) silver powder (C) aniline in the presence of alcoholic KOH (d)

acetone.

Watch Video Solution

29. Complete the following reactions : 

(a)  (b)  


(c)  (d) 

 


(e) 

Watch Video Solution

CHCl3 + 2H
Zn ,HCl
−−−−→ CCl4 + H2O →

CHI3 + CH3NH2 + 3KOH →

CH3CH2OH + I2 + NaOH →

CHCl3 + O2

Sunlight
−−−−→

https://dl.doubtnut.com/l/_zaRmgdjRSCTP
https://dl.doubtnut.com/l/_YJEf5L3Ki3pj
https://dl.doubtnut.com/l/_nbHvmHULyysH
https://dl.doubtnut.com/l/_N1AKkZSppz2Z


Conceptual Questions

30. Write the IUPAC names of isomers of . Give one test to

distinguish these.

Watch Video Solution

C2H4Cl2

1. Out  and  , which is

more reactive towards  reaction and why?

Watch Video Solution

CH3 − CH
∣

CH3

− CH2 − Cl CH3 − CH2 − CH
∣

CH3

− Cl

SN1

2. Which of the following two reactions is  and why? 


Watch Video Solution

SN2

https://dl.doubtnut.com/l/_N1AKkZSppz2Z
https://dl.doubtnut.com/l/_qibAsgvVAzsY
https://dl.doubtnut.com/l/_gmADzzh3wkse
https://dl.doubtnut.com/l/_eYgMjvqTYCjF


3. Chloroform contains chlorine but gives no reaction with 

solution. Why?

Watch Video Solution

AgNO3

4. Out of HCl (g) and  which is preferred for converting ethanol

into chloroethane?

Watch Video Solution

SOCl2

5. Chloroform is stored in dark coloured bottles. Explain in not more than

two sentences.

Watch Video Solution

6. Haloarenes are insoluble in water but are soluble in benzene. Explain.

https://dl.doubtnut.com/l/_eYgMjvqTYCjF
https://dl.doubtnut.com/l/_uPzdxiltT7gt
https://dl.doubtnut.com/l/_ZQcNdhyt8sZy
https://dl.doubtnut.com/l/_gVRslwjwpdwG
https://dl.doubtnut.com/l/_Tqej6sqgjgVI


Watch Video Solution

7. The p-isomer of dichlorobenzene has higher melting point than o-and

m-isomer. Why?

Watch Video Solution

8. Iodoform gives a precipitate with AgNO3 on heating but chloroform

does not because -

Watch Video Solution

9. A small amount of ethyl alcohol is usually added to chloroform bottles.

Why?

Watch Video Solution

https://dl.doubtnut.com/l/_Tqej6sqgjgVI
https://dl.doubtnut.com/l/_meUYjjfU4Ric
https://dl.doubtnut.com/l/_5sq900YclZzP
https://dl.doubtnut.com/l/_XP2Vnmh5ja0f


10. Organic halogen compounds used in industry as solvents are

chlorides rather than bromides and iodides. Explain.

Watch Video Solution

11. What effect should the following resonance of vinyl chloride have on

its dipole moment? 

Watch Video Solution

CH2 = CH − Cl ↔ H2

−

C − CH =
+

Cl

12. Why is vinyl chloride less reactive than ethyl chloride ?

Watch Video Solution

13. Why is chloroform not used as anaesthetic these days? What is the

commonly used anaesthetic?

https://dl.doubtnut.com/l/_4iL3lCdDFrj2
https://dl.doubtnut.com/l/_R8OwZJOIWJBz
https://dl.doubtnut.com/l/_9izSz4xsNoIB
https://dl.doubtnut.com/l/_8Y2APMPVnokh


Watch Video Solution

14. A hydrocarbon  gives only one chlorination product. Identify the

compound.﻿

Watch Video Solution

C5H12

15. Predict the order of reactivity of the following compounds in 

reactions : 

Watch Video Solution

SN1

16. Allyl chloride is more reactive than n-propyl chloride towards

unimolecular nucleophilic substitution reaction. Explain why ?

Watch Video Solution

https://dl.doubtnut.com/l/_8Y2APMPVnokh
https://dl.doubtnut.com/l/_higu6YDDrZzp
https://dl.doubtnut.com/l/_15zvlqxgctBl
https://dl.doubtnut.com/l/_iNUXaGlvP7c7


17. Write the various possible isomers of  containing benzene

ring. Which of these has weakest C-Cl bond.

Watch Video Solution

C7H7Cl

18. An alkyl halide with molecular formula  is optically active.

What is its structure ?

Watch Video Solution

C4H9Br

19. Which out of the two : 2-cyclopentenol or 3-cyclopentenol has chiral

centre.

Watch Video Solution

20. Allyl chloride is hydrolysed more readily than n-propyl chloride. Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_7Pj3KtTfHdez
https://dl.doubtnut.com/l/_ytcLou8ILNk3
https://dl.doubtnut.com/l/_pyf84TwXX090
https://dl.doubtnut.com/l/_B6ss3SfYRoXx


21. Write the structure of major monohalo product of the following

reaction: 

Watch Video Solution

22. Account for following: 

(a) Use of DDT was banned in United States in 1973. 

(b) Benzylic halides show high reactivity towards  reaction.

Watch Video Solution

SN1

23. Why iodoform has appreciable antiseptic property?

Watch Video Solution

https://dl.doubtnut.com/l/_B6ss3SfYRoXx
https://dl.doubtnut.com/l/_w27IFO9jRJWk
https://dl.doubtnut.com/l/_op86N8FiLrCl
https://dl.doubtnut.com/l/_DTRv5FghGoJO


Ncert In Text Questions

24. Primary alkyl halide  (a) reacted with alcoholic KOH to give

compound (b). Compound (b) is reacted with HBr to give (c) which is an

isomer of (a). When (a) is reacted with sodium metal it gives compound

(d),  which is different from the compound formed when n-butyl

bromide is reacted with sodium. Give the structural formula of (a) and

write the equations for all the reactions.

Watch Video Solution

C4H9Br

C8H18

25. Identify (X) and (Y) in the following:

Watch Video Solution

https://dl.doubtnut.com/l/_uwxwNV1mdjRE
https://dl.doubtnut.com/l/_zf0pj0px9GBc
https://dl.doubtnut.com/l/_NFNCJ3GHWyE2


1. Write structures of the following compounds: 

(i) 2-Chloro-3-methylpentane 

(ii) 1-Chloro-4-ethylcyclohexane 

(iii) 4-tert. Butyl-3-iodoheptane 

(iv) 1,4-Dibromobut-2-ene 

(v) 1-Bromo-4-sec. butyl-2-methylbenzene.

Watch Video Solution

2. Why is sulphuric acid not used during the reaction of alcohols with KI?

Watch Video Solution

3. Write structures of different dihalogen derivatives of propane.

Watch Video Solution

https://dl.doubtnut.com/l/_NFNCJ3GHWyE2
https://dl.doubtnut.com/l/_Io6b1LjeqZF7
https://dl.doubtnut.com/l/_Mv8y6vTF0iMN


4. Among the isomeric alkanes of molecular formula , identify the

one that on photochemical chlorination yields 

(i) A single monochloride.

(ii) Three isomeric monochlorides. 

(iii) Four isomeric monochlorides.

Watch Video Solution

C5H12

5. Draw the structure of major monohalo products in each of the

following reactions : 

Watch Video Solution

https://dl.doubtnut.com/l/_gMsF1VOls6CX
https://dl.doubtnut.com/l/_zico9rI5fosk


6. Arrange each set of compounds in order of increasing boiling points. 

(i) Bromomethane, Bromoform, Chloromethane, Dibromomethane. 

(ii) 1-Chloropropane, Isopropyl chloride, 1-Chlorobutane.

Watch Video Solution

7. Which alkyl halide from the following pairs would you expect to react

more rapidly by an  mechanism? Explain your answer. 


(i)  or  (ii)  or 

 


Watch Video Solution

SN2

CH3CH2CH2CH2Br CH3CH2C
∣

Br

HCH3 CH3CH2C
∣

Br

HCH3

H2C −

CH3

∣

C
∣

CH3

− Br

8. In the following pairs of halogen compounds, which compound

undergoes faster  reaction? 
SN1

https://dl.doubtnut.com/l/_nkbrMmflLoUI
https://dl.doubtnut.com/l/_yga2ocnCW4x8
https://dl.doubtnut.com/l/_u880jJmYZz5s


Ncert Textbooks Exercises

Watch Video Solution

9. Identity A, B, C, D, E, R and R' in the following: 

Watch Video Solution

1. Name the following halides according to IUPAC system and classify

them asalkyl, allyl, benzyl (primary, secondary, tertiary), vinyl or aryl

halides: 

(i)  
(CH3)2CHCH(Cl)CH3, (ii)CH3CH2CH(CH3)CH(C2H5)Cl

https://dl.doubtnut.com/l/_u880jJmYZz5s
https://dl.doubtnut.com/l/_edj8LxexTZKR
https://dl.doubtnut.com/l/_WeffPInXvUvL


Ncert Textbooks Exercise

(iii)  


(v)  


(ix)  


(xi) 

Watch Video Solution

CH3CH2C(CH3)2CH2I, (iv)(CH3)3CCH2CH(Br)C6H5

CH3CH(CH3)CH(Br)CH3, (vi)CH3C(C2H5)2CH2Br

(vii)CH3C(Cl)(C2H5)CH2CH3, (viii)CH3CH = C(Cl)CH2CH(CH3)2

CH3CH = CHC(Br)(CH3)2(x)p − ClC6H4CH2CH(CH3)2

m − ClCH2C6H4CH2C(CH3)3, (xii)o − Br − C6H4CH(CH3)CH2CH3

1. Give the IUPAC names of the following compounds: 

(i) 

Watch Video Solution

CH3CH(Cl)CH(Br)CH3(ii)CHF2CBrClF (iii)ClCH2C ≡ CCH2Br

(iv)(CCl3)3CCl(v)CH3C(p − ClC6H4)2CH(Br)CH3(vi)(CH3)3CCH =

https://dl.doubtnut.com/l/_WeffPInXvUvL
https://dl.doubtnut.com/l/_oXexmHeP8Xcx


2. Write the structures of the following organic halogen compounds. 

(i) 2-Chloro-3-methylpentane (ii) p-Bromochlorobenzene , 

(iii) 1-Chloro-4-ethylcyclohexane (iv) 2-(2-Chlorophenyl)-1-iodooctane , 

(v) 2-Bromobutane (vi) 4-tert-Butyl-3-iodoheptane , 

(vii) 1-Bromo-4-sec-butyl-2-methylbenzene (viii) 1,4-Dibromobut-2-ene

Watch Video Solution

3. Which one of the following has the highest dipole moment? 

(i) 

Watch Video Solution

CH2Cl2, (ii)CHCl3, (iii)CCl4

4. A hydrocarbon  does not react with chlorine in dark but gives a

single monochloro compound  in bright sunlight. Identify the

hydrocarbon.

Watch Video Solution

C5H10

C5H9Cl

https://dl.doubtnut.com/l/_Sfjcjyi69ypO
https://dl.doubtnut.com/l/_LOpNuHXsbKai
https://dl.doubtnut.com/l/_Pb8TVa10mlkH


5. Write the isomers of the compound having formula .

Watch Video Solution

C4H9Br

6. Write the equations for the preparation of 1-iodobutane from 

(i) 1-butanol , (ii) 1-chlorobutane , (iii) but-1-ene.

Watch Video Solution

7. What are ambident nucleophiles? Explain with an example.

Watch Video Solution

8. Which compound in each of the following pairs will react faster in 

reaction with  ? 


(i) 

Watch Video Solution

SN2

. – OH

CH3Br or CH3I, (ii)(CH3)3CCl or CH3Cl

https://dl.doubtnut.com/l/_kRW6Y29d0yrA
https://dl.doubtnut.com/l/_u5Eah6AVPCro
https://dl.doubtnut.com/l/_LcWICvwb76WG
https://dl.doubtnut.com/l/_764s0WE5Uupx


9. Predict all the alkenes that would be formed by dehydrohalogenation

of the following halides with sodium ethoxide in ethanol and identify the

major alkene: 

(i) 1-Bromo-1-methylcyclohexane , (ii) 2-Chloro-2-methylbutane 

(iii) 2,2,3-Trimethyl-3-bromopentane

Watch Video Solution

10. आप निम्नलिखित परिवर्तन कै से करेंगे ? 

(i) Ethanol to but-1-yne 

(ii) Ethane to bromethane 

(iii) Propene to 1-nitropropane 

(iv) Toluene to benzyl alcohol 

(v) Propene to propyne 

(vi) Ethanol to ethyl fluoride 

(vii) Bromomethane to propanone 

(viii) But-1-ene to but-2-ene 

https://dl.doubtnut.com/l/_764s0WE5Uupx
https://dl.doubtnut.com/l/_uUlGRgAr4Lgn
https://dl.doubtnut.com/l/_tpO6pYXJVKaL


(ix) 1-chlorobutane to n-octane 

(x) Benzene to biphenyl

Watch Video Solution

11. Explain why 

(i) the dipole moment of chlorobenzene is lower than that of cyclohexyl

chloride? 

(ii) alkyl halides, though polar, are immiscible with water? 

(iii) Grignard reagents should be prepared under anhydrous conditions?

Watch Video Solution

12. Give the uses of freon 12, DDT, carbon tetrachloride and iodoform.

Watch Video Solution

https://dl.doubtnut.com/l/_tpO6pYXJVKaL
https://dl.doubtnut.com/l/_sCilGQ8hLRTG
https://dl.doubtnut.com/l/_fuNt48BbDl7J


13. Write the structure of the major organic product in each of the

following reactions: 

(i)  

(ii)  


(iii)  


(iv)  

(v)  


(vi)  


(vii)  


(viii) 

Watch Video Solution

CH3CH2CH2Cl + NaI
acetone
−−−→

heat

(CH3)3CBr + KOH
ethanol
−−−→

heat

CH3CH(Br)CH2CH3 + NaOH
water
−−→

CH3CH2Br + KCN
aq. ethanol→

C6H5ONa + C2H5Cl →

CH3CH2CH2OH + SOCl2 →

CH3CH2CH = CH2 + HBr
peroxide
−−−−→

CH3CH = C(CH3)2 + HBr →

14. Write the mechanism of the following reaction: 

nBuBr + KCN  nBuCN

Watch Video Solution

EtOH −H2O
−−−−−−−→

https://dl.doubtnut.com/l/_LlTilx1pXE7z
https://dl.doubtnut.com/l/_Pkh8sSjlr9fd


15. Arrange the compounds of each set in order of reactivity towards 

displacement: 

(i) 2-Bromo-2-methylbutane, 1-Bromopentane, 2-Bromopentane 

(ii) 1-Bromo-3-methylbutane, 2-Bromo-2-methylbutane, 2-Bromo-3-

methylbutane 

(iii) 1-Bromobutane, 1-Bromo-2,2-dimethylpropane, 1-Bromo-2-

methylbutane, 1-Bromo-3-methylbutane.

Watch Video Solution

SN2

16. Out of  and , which is more easily

hydrolysed by aqueous
KOH.

Watch Video Solution

C6H5CH2Cl C6H5CHClC6H5

17. p-Dichlorobenzene has higher m.p. and solubility than those of -and m-

isomers. Discuss.

Watch Video Solution

https://dl.doubtnut.com/l/_WaLoE5keOuLi
https://dl.doubtnut.com/l/_9cLX0BG9ff8s
https://dl.doubtnut.com/l/_6IK8K3fpTKYQ


Watch Video Solution

18. How the following conversions can be carried out? 

(i) Propene to propan-1-ol 

(ii) Ethanol to but-1-yne 

(iii) 1-Bromopropane to 2-bromopropane (iv) Toluene to benzyl alcohol 

(v) Benzene to 4-bromonitrobenzene 

(vi) Benzyl alcohol to 2-phenylethanoic acid 

(vii) Ethanol to propanenitrile 

(viii) Aniline to chlorobenzene 

(ix) 2-Chlorobutane to 3, 4-dimethylhexane 

(x) 2-Methyl-1-propene to 2-chloro-2-methylpropane 

(xi) Ethyl chloride to propanoic acid 

(xii) But-1-ene to n-butyliodide 

(xiii) 2-Chloropropane to 1-propanol 

(xiv) Isopropyl alcohol to iodoform 

(xv) Chlorobenzene to p-nitrophenol
 (xvi) 2-Bromopropane to 1-

bromopropane 

(xvii) Chloroethane to butane 

https://dl.doubtnut.com/l/_6IK8K3fpTKYQ
https://dl.doubtnut.com/l/_qnxTNXycYAWr


(xviii) Benzene to diphenyl 

(xix) tert-Butyl bromide to isobutyl bromide 

(xx) Aniline to phenylisocyanide

Watch Video Solution

19. The treatment of alkyl chlorides with aqueous KOH leads to the

formation of alcohols but in the presence of alcoholic KOH, alkenes are

major products. Explain.

Watch Video Solution

20. Primary alkyl halide  (a) reacted with alcoholic KOH to give

compound (b). Compound (b) is reacted with HBr to give (c) which is an

isomer of (a). When (a) is reacted with sodium metal it gives compound

(d),  which is different from the compound formed when n-butyl

bromide is reacted with sodium. Give the structural formula of (a) and

write the equations for all the reactions.

W t h Vid S l ti

C4H9Br

C8H18

https://dl.doubtnut.com/l/_qnxTNXycYAWr
https://dl.doubtnut.com/l/_Xii07ZOQtJ1M
https://dl.doubtnut.com/l/_7OFD8LbXPAfP


Ncert Examplar Problems Multiple Choice Questions Type I

Watch Video Solution

21. What happens when 

(i) n-butyl chloride is treated with alcoholic KOH, 

(ii) bromobenzene is treated with Mg in the presence of dry ether, 

(iii) chlorobenzene is subjected to hydrolysis, 

(iv) ethyl chloride is treated with aqueous KOH, 

(v) methyl bromide is treated with sodium in the presence of dry ether, 

(vi) methyl chloride is treated with KCN?

Watch Video Solution

1. The order of reactivity of following alcohols with halogen acids is………. 

(A)  (B)  
CH3CH2 − CH2 − OH CH3CH2 − CH
∣

CH3

−OH

(C)CH3CH2 −

CH3

∣

C
∣

CH3

− OH

https://dl.doubtnut.com/l/_7OFD8LbXPAfP
https://dl.doubtnut.com/l/_52EHnTuMd7um
https://dl.doubtnut.com/l/_O9sOCjkM07fu


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(A) > (B) > (C)

(C) > (B) > (A)

(B) > (A) > (C)

(A) > (C) > (B)

2. Which of the following alcohol will yield the corresponding alkyl

chloride on reaction with concentrated HCl at room temperature with

fastest rate?

A. 

B. 

C. 

D. 

CH3CH2 − CH2 − OH

CH3CH2 − C
∣

CH3

H − OH

CH3CH2 − C
∣

CH3

H − CH2OH

CH3CH2 −

CH3

∣

C
∣

CH3

− OH

https://dl.doubtnut.com/l/_O9sOCjkM07fu
https://dl.doubtnut.com/l/_hgw6wB9Uryk6


Answer: D

Watch Video Solution

3. Identify the compound Y in the following reaction. 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_hgw6wB9Uryk6
https://dl.doubtnut.com/l/_aKuxyFGjLSTQ


D. 

Answer: A

Watch Video Solution

4. Toluene reacts with a halogen in the presence of iron (III) chloride

giving ortho- and para-halo compounds. The reaction is -

A. Electrophilic elimination reaction

B. Electrophilic substitution reaction

C. Free radical addition reaction

D. Nucleophilic substitution reaction

https://dl.doubtnut.com/l/_aKuxyFGjLSTQ
https://dl.doubtnut.com/l/_9cRJtMwjZSem


Answer: B

Watch Video Solution

5. Which of the following is halogen exchange reaction ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

RX + NaI → RI + NaX

R − OH + HX
ZnCl2
−−−→ R − X + H2O

6. Which reagent will you use for the following reaction ? 

CH3CH2CH2CH3 → CH3CH2CH2CH2Cl + CH3CH2CHClCH3

https://dl.doubtnut.com/l/_9cRJtMwjZSem
https://dl.doubtnut.com/l/_FwVSIi5zfqVP
https://dl.doubtnut.com/l/_2b8QR0llZmLQ


A.  light

B. 

C.  gas in dark

D.  gas in the presence of iron in dark

Answer: A

Watch Video Solution

Cl2 /UV

NaCl + H2SO4

Cl2

Cl2

7. Arrange the following compounds in the increasing order of their

densities

https://dl.doubtnut.com/l/_2b8QR0llZmLQ
https://dl.doubtnut.com/l/_1yiFZWSkReFk


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(i) < (ii) < (iii) < (iv)

(i) < (iii) < (iv) < (ii)

(iv) < (iii) < (ii) < (i)

(ii) < (iv) < (iii) < (i)

8. Arrange the following compounds in increasing order of their boiling

point 

(i) 

(ii)  


(iii) 

A. 

CH3CH2CH2CH2Br

H3C −

CH3

∣

C
∣

Br

− CH3

(ii) < (i) < (iii)

https://dl.doubtnut.com/l/_1yiFZWSkReFk
https://dl.doubtnut.com/l/_aWGn7v63eflG


B. 

C. 

D. 

Answer: C

Watch Video Solution

(i) < (ii) < (iii)

(iii) < (i) < (ii)

(iii) < (ii) < (i)

9. In which of the following molecules carbon atom marked with asterisk

(*) is asymmetric? 

A. (i), (ii), (iii), (iv)

B. (i), (ii), (iii)

https://dl.doubtnut.com/l/_aWGn7v63eflG
https://dl.doubtnut.com/l/_tcHABpN87S34


C. (ii), (iii), (iv)

D. (i), (iii), (iv)

Answer: B

Watch Video Solution

10. Which of the following structures is enantiomeric with the molecule

(A) given below? 

A. 

https://dl.doubtnut.com/l/_tcHABpN87S34
https://dl.doubtnut.com/l/_nz5vB6kIn0YX


B. 

C. 

D. 

Answer: A

Watch Video Solution

11. Which of the following is an example of vic-dihalide?

A. Dichloromethane

B. 1,2-dichloroethane

C. Ethylidene chloride

https://dl.doubtnut.com/l/_nz5vB6kIn0YX
https://dl.doubtnut.com/l/_XJFmZjSUymYX


D. Allyl chloride

Answer: B

Watch Video Solution

12. The position of Br in the compound in  can

be classified as……..

A. Allyl

B. Aryl

C. Vinyl

D. Secondary

Answer: A

Watch Video Solution

CH3 = CHC(Br)(CH3)2

https://dl.doubtnut.com/l/_XJFmZjSUymYX
https://dl.doubtnut.com/l/_kii1LprFWguy


13. Chlorobenzene is formed by reaction of chlorine with benzene in the

presence of . Which of the following species attacks the benzene

ring in this reaction?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

AlCl3

Cl−

Cl+

AlCl3

[AlCl4] −

14. Ethylidene chloride is a/an…..

A. vic-dihalide

B. gem-dihalide

C. allylic halide

https://dl.doubtnut.com/l/_GqsBNlC94oLN
https://dl.doubtnut.com/l/_mcEkILg4I9rX


D. vinylic halide

Answer: B

Watch Video Solution

15. What is 'A' in the following reaction? 

A. 

B. 

https://dl.doubtnut.com/l/_mcEkILg4I9rX
https://dl.doubtnut.com/l/_pIxANJhA3PtP


C. 

D. 

Answer: D

Watch Video Solution

16. A primary alkyl halide would prefer to undergo :-

A.  reaction

B.  reaction

C. -Elimination

D. Racemisation

SN1

SN2

α

https://dl.doubtnut.com/l/_pIxANJhA3PtP
https://dl.doubtnut.com/l/_uId14pnQapPn


Answer: B

Watch Video Solution

17. Which of the following alkyl halides will undergo  reaction most

readily ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

SN1

(CH3)3C − F

(CH3)3C − Cl

(CH3)3C − Br

(CH3)3C − I

18. Which is the correct IUPAC name for ?CH3 − CH
∣

C2H5

− CH2 − Br

https://dl.doubtnut.com/l/_uId14pnQapPn
https://dl.doubtnut.com/l/_A9lymRI1itqd
https://dl.doubtnut.com/l/_tzLT0t4QMpDw


A. 1-Bromo-2-ethylpropane

B. 1-Bromo-2-ethyl-2-methylethane

C. 1-Bromo-2-methylbutane

D. 2-Methyl-1-bromobutane

Answer: C

Watch Video Solution

19. What should be the correct IUPAC name for diethylbromomethane?

A. 1-Bromo-1, 1-diethylmethane

B. 3-Bromopentane

C. 1-Bromo-1-ethylpropane

D. 1-Bromopantane

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tzLT0t4QMpDw
https://dl.doubtnut.com/l/_mEmBRZkzbHcA


20. The reaction of toluene with chlorine in the presence of iron and in

the absence of light yields ………

A. 

B. 

C. 

D. Mixture of (ii) and (iii)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_mEmBRZkzbHcA
https://dl.doubtnut.com/l/_UjMKWUcVspKB


21. Chloromethane on treatment with excess of ammonia yields mainly

A. N, N-Dimethylmethanamine 

B. N-methylmethanamine 

C. Methanamine 

D. Mixture containing all these in equal proportion﻿

Answer: C

Watch Video Solution

(CH3 − NH − CH3)

(CH3NH2)

22. Molecules whose mirror image is non-superimposable over them are

known as chiral. Which of the following molecules is chiral in nature?

A. 2-Bromobutane

B. 1-Bromobutane﻿

C. 2-Bromopropane﻿

https://dl.doubtnut.com/l/_GgxsY23SZVFB
https://dl.doubtnut.com/l/_EvTohMjUfocI


D. 2-Bromopropan-2-ol

Answer: A

Watch Video Solution

23. Reactions of  with aqueous sodium hydroxide follows……..

A.  mechanism

B.  mechanism

C. Any of the above two depending upon the temperature of reaction

D. Saytzeff rule

Answer: A

Watch Video Solution

C6H5CH2Br

SN1

SN2

https://dl.doubtnut.com/l/_EvTohMjUfocI
https://dl.doubtnut.com/l/_fJ1BGkwIdS28


24. Which of the carbon atoms present in the molecule given below are

asymmetric? 

A. a, b, c, d

B. b, c

C. a, d

D. a, b, c

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_0MuqDzWJU2pp


25. Which of the following compounds will give racemic mixture on

nucleophilic substitution by  ion ?


(I) 


(II) 


(III) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

OH −

CH3 − CH
∣

C2H5

− Br

CH3 −

Br

∣

C
∣

C2H5

− CH3

CH3 − CH
∣

C2H5

− CH2Br

(i)

(i), (ii), (iii)

(ii), (iii)

(i), (iii)

https://dl.doubtnut.com/l/_UYrDZGFbMCQW


26. Arrange the compounds in increasing order of rate of reaction

towards nucleophilic substitutions. 

A. 

B. 

C. 

D. 

Answer: C

(i) < (ii) < (iii)

(iii) < (ii) < (i)

(i) < (iii) < (ii)

(iii) < (i) < (ii)

https://dl.doubtnut.com/l/_YC0zIcz6gxdk


Watch Video Solution

27. Which of the following order is correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(i) < (ii) < (iii)

(i) < (iii) < (ii)

(iii) < (ii) < (i)

(ii) < (iii) < (i)

https://dl.doubtnut.com/l/_YC0zIcz6gxdk
https://dl.doubtnut.com/l/_Vk4fkoclK1T6


28. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(iii) < (ii) < (i)

(ii) < (iii) < (i)

(i) < (iii) < (ii)

(i) < (ii) < (iii)

29. Arrange the compounds in increasing order of rate of reaction

towards nucleophilic substitutions. 

https://dl.doubtnut.com/l/_hnMwl5jJjpsF
https://dl.doubtnut.com/l/_0iSAda880B6F


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(i) < (ii) < (iii)

(ii) < (i) < (iii)

(iii) < (ii) < (i)

(i) < (iii) < (ii)

30. Which of the correct increasing order of boiling points of the

following compounds? 

1-Iodobutane,1-Bromobutane,1-Chlorobutane, Butane

A. Butane < 1-Chlorobutane < 1-Bromobutane < 1-Iodobutane﻿

https://dl.doubtnut.com/l/_0iSAda880B6F
https://dl.doubtnut.com/l/_q7Bab2bUtmK8


B. 

C. 

D. 

Answer: A

Watch Video Solution

1-Iodobutane < 1-Bromobutane < 1-Chlorobutane < Butane

Butane < 1-Iodobutane < 1-Bromobutane < 1-Chlorobutane

Butane < 1-Chlorobutane < 1-Iodobutane < 1-Bromobutane

31. Which is the correct increasing order of boiling points﻿ of the following

compounds ?﻿ 

1-Bromoethane, 1-Bromopropane, 1-Bromobutane,﻿ Bromobenzene﻿

A. 

B. 

C. 

Bromobenzene < 1-Bromobutane < 1-Bromopropane < 1-Bromoeth

Bromobenzene < 1-Bromoethane < 1-Bromopropane < 1-Bromobut

1-Bromopropane < 1-Bromobutane < 1-Bromoethane < Bromobenz

https://dl.doubtnut.com/l/_q7Bab2bUtmK8
https://dl.doubtnut.com/l/_Cc9KtCEx8QQH


Ncert Examplar Problems Multiple Choice Questions Type Ii

D. 

Answer: D

Watch Video Solution

1-Bromoethane < 1-Bromopropane < 1-Bromobutane < Bromobenz

1. Which of the statements are correct about above reaction?

A. (i) and (v) both are nucleophiles.

B. In (iii) carbon atom is  hybridised.

C. In (iii) carbon atom is  hybridised.

D. (i) and (v) both are electrophiles.

Answer: A::C

View Text Solution

sp3

sp2

https://dl.doubtnut.com/l/_Cc9KtCEx8QQH
https://dl.doubtnut.com/l/_5B84TV5dY9zF


2. Which of the following statements are correct about this reaction?

A. The given reaction follows  mechanism.

B. (ii) and (iv) have opposite configuration.

C. (ii) and (iv) have same configuration.

D. The given reaction follows  mechanism.

Answer: A::B

Watch Video Solution

SN2

SN2

3. Which of the following statements are correct about the reaction

intermediate ?

A. Intermediate (iii) is unstable because in this carbon is attached to 5

atoms.

B. Intermediate (iii) is unstable because carbon atom is  hybridised.sp2

https://dl.doubtnut.com/l/_5B84TV5dY9zF
https://dl.doubtnut.com/l/_TYAduVPutQr8
https://dl.doubtnut.com/l/_kZhOo41oOobr


C. Intermediate (iii) is stable because carbon atom is  hybridised.

D. Intermediate (iii) is less stable than the reactant (ii).

Answer: A::D

Watch Video Solution

sp2

4. Which of the following statements are correct about the mechanism of

this reaction ?

A. A carbocation will be formed as an intermediate in the reaction.

B.  will attach the substrate (ii) from one side and  will

leave it simultaneously from other side.

C. An unstable intermediate will be formed in which  and 

will be attached by weak bonds.

D. Reaction proceeds through  mechanism.

Answer: A::D

OH − CI −

OH − Cl−

SN1

https://dl.doubtnut.com/l/_kZhOo41oOobr
https://dl.doubtnut.com/l/_hSvA1oDuUkbH


Watch Video Solution

5. Which of the following statements are correct about the kinetics of this

reaction ?

A. The rate of reaction depends on the concentration of only (ii).

B. The rate of reaction depends on concentration of both (i) and (ii).

C. Molecularity of reaction is one.

D. Molecularity of reaction is two.

Answer: A::C

Watch Video Solution

6. Haloalkanes contain halogen atom(s) attached to the hybridised

carbon atom of an alkyl group. Identify haloalkene from the following

compounds.

sp3

https://dl.doubtnut.com/l/_hSvA1oDuUkbH
https://dl.doubtnut.com/l/_BrGHqTvG4jbw
https://dl.doubtnut.com/l/_kkmTXkzhUlHX


A. 2-Bromopentane

B. Vinyl chloride (chloroethene)

C. 2-chloroacetophenone

D. Trichloromethane

Answer: A::D

Watch Video Solution

7. Ethylene chloride and ethylidene chloride are isomers. Identify the

correct statements.

A. Both the compounds form same product on treatment with

alcoholic KOH.

B. Both the compounds form same product on treatment with aq.

NaOH.

C. Both the compounds form same product on reduction.

https://dl.doubtnut.com/l/_kkmTXkzhUlHX
https://dl.doubtnut.com/l/_JExOtVTAAf6R


D. Both the compounds are optically active.

Answer: A::C

Watch Video Solution

8. Which of the following compounds are gem-dihalides?

A. Ethylidene chloride

B. Ethylene dichloride

C. Methylene chloride

D. Benzyl chloride

Answer: A::C

Watch Video Solution

9. Which of the following are secondary bromides ?

https://dl.doubtnut.com/l/_JExOtVTAAf6R
https://dl.doubtnut.com/l/_4dDddlbPJ6tr
https://dl.doubtnut.com/l/_759YXr33MkEm


A. 

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

(CH3)2CHBr

(CH3)3CCH2Br

CH3CH(Br)CH2CH3

(CH3)2CBrCH2CH3

10. Which of the following compounds can beclassified as aryl halides ?

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

p − ClC6H4CH2CH(CH3)2

p − CH3CHCl(C6H4)CH2CH3

o − BrH2C − C6H4CH(CH3)CH2CH3

C6H5 − Cl

https://dl.doubtnut.com/l/_759YXr33MkEm
https://dl.doubtnut.com/l/_f6QUDBMZZMFy


11. Alkyl halides are prepared from alcohols by treating with

A. 

B. 

C. 

D. All of the above

Answer: A::B

Watch Video Solution

HCl + ZnCl2

RedP + Br2

H2SO4 + KI

12. Alkyl fluorides are synthesised by alkyl chloride/bromide in presence

of………or……….. .

A. 

B. 

C. 

CaF2

CoF2

Hg2F2

https://dl.doubtnut.com/l/_f6QUDBMZZMFy
https://dl.doubtnut.com/l/_8v2FT1nsmnoi
https://dl.doubtnut.com/l/_5NYh43JNNvy2


Ncert Examplar Problems Short Answer Type Questions

D. NaF

Answer: B::C

Watch Video Solution

1. Aryl chlorides and bromides can be easily prepared by electrophilic

substitution of arenas with chlorine and bromine respectively in the

presence of Lewis acid catalyst. But why does preparation of aryl iodides

requires presence of an oxidising agent?

Watch Video Solution

2. Out of o- and p-dibromobenzene which one has higher melting point

and why?

Watch Video Solution

https://dl.doubtnut.com/l/_5NYh43JNNvy2
https://dl.doubtnut.com/l/_XrT14E0LjZTE
https://dl.doubtnut.com/l/_APGYqYSFOrjB


3. Which of the compounds will react faster in  reaction with 

ion? 

Watch Video Solution

SN1 −OH

CH3 − CH2 − Cl or C6H5 − CH2 − Cl

4. Why iodoform has appreciable antiseptic property?

Watch Video Solution

5. Haloarenas are less reactive than haloalkanes and haloalkenes. Explain.

Watch Video Solution

6. Discuss the role of Lewiis acids in the preparation of aryl bromides and

chlorides in the dark.

W t h Vid S l ti

https://dl.doubtnut.com/l/_APGYqYSFOrjB
https://dl.doubtnut.com/l/_3bhgp0EW32NQ
https://dl.doubtnut.com/l/_GnZDYFiEytb9
https://dl.doubtnut.com/l/_XIP1wleCMLvr
https://dl.doubtnut.com/l/_oQeLrBqrr7wh


Watch Video Solution

7. Which of the following compounds (i) and (ii) will not react with a

mixture of NaBr and . Explain why ? 


(i)  (ii) 

Watch Video Solution

H2SO4

CH3CH2CH2OH

8. Allyl chloride is hydrolysed more readily than n-propyl chloride. Why ?

Watch Video Solution

9. Why is it necessary to avoid even traces of moisture during the use of a

Grignard reagent?

https://dl.doubtnut.com/l/_oQeLrBqrr7wh
https://dl.doubtnut.com/l/_5WlHenkT06wO
https://dl.doubtnut.com/l/_xUTSh8mFeVmb
https://dl.doubtnut.com/l/_l7yttTT9hyy1


Watch Video Solution

10. How do polar solvents help in the first step in  mechanism?

Watch Video Solution

SN1

11. Write a test to detect the presence of double bond in a molecule.

Watch Video Solution

12. Diphenyls are potential threat to the envioronment. How are these

produced from aryl halides?

Watch Video Solution

13. What are the IUPAC names of the insecticide DDT and benzene

hexachloride? Why is their use banned in India and other countries?

https://dl.doubtnut.com/l/_l7yttTT9hyy1
https://dl.doubtnut.com/l/_gx5oxRLTZIkS
https://dl.doubtnut.com/l/_fgkqU1rM2tlj
https://dl.doubtnut.com/l/_dcd2oObj9lwu
https://dl.doubtnut.com/l/_IZBX695hnREs


Watch Video Solution

14. Elimination reaction (especially  - elimination) are as common as the

nucleophilic substitution reaction in case of alkyl halides. Specify the

reagents used in both cases.

Watch Video Solution

β

15. How will you obtain monobromobenzene from aniline ?

Watch Video Solution

16. Aryl halides are extremely less reactive towards nucleophilie

substitution. Predict and explain the order of reactivity of the following

https://dl.doubtnut.com/l/_IZBX695hnREs
https://dl.doubtnut.com/l/_zmNxdfs2wnhb
https://dl.doubtnut.com/l/_NXQ1wUwcvuPT
https://dl.doubtnut.com/l/_cHjrRDGOeB6k


compounds towards nucleophilic substitution: 

Watch Video Solution

17. tert-Butylbromide reacts with aq. NaOH by  mechanism while n-

butylbromide reacts by  mechanism. Why?

Watch Video Solution

SN1

SN1

18. Predict the major product formed when HCl is added to isobutylene,

Explain the mechanism involved.

Watch Video Solution

https://dl.doubtnut.com/l/_cHjrRDGOeB6k
https://dl.doubtnut.com/l/_HWf2GoVvVkFF
https://dl.doubtnut.com/l/_rkpkYxGwWkeW


Ncert Examplar Problems Matching Type Questions

19. Discuss the nature of C-X bond in the haloarenes.

Watch Video Solution

20. How can you obtain iodoethane from ethanol when no other iodine

containing reagent except NAI is available in the laboratery?

Watch Video Solution

21. Cyanide ion acts as an ambident nucleophille. From which end it acts

as a strong nucleophile in aqueous medium? Give reason for your answer.

Watch Video Solution

https://dl.doubtnut.com/l/_09Y0beiIOkBR
https://dl.doubtnut.com/l/_rzVoo2q11LDL
https://dl.doubtnut.com/l/_QIrW8vdVqHD5


1. Match the compounds given in Column I with the effects given in

Column II. 

Watch Video Solution

2. Match the items of Column I and Column II. 

Watch Video Solution

3. Match the structures of compounds given in Column I with the classes

of compounds﻿ given in Column II. 

https://dl.doubtnut.com/l/_QKQeYLuqcd96
https://dl.doubtnut.com/l/_gEMzlmpdixMr
https://dl.doubtnut.com/l/_DQhqjzsi47P2


Watch Video Solution

4. Match the reactions given in Column I with the types of reactions given

in Column II. 

Watch Video Solution

https://dl.doubtnut.com/l/_DQhqjzsi47P2
https://dl.doubtnut.com/l/_o0tRF7hyvQFE
https://dl.doubtnut.com/l/_qWY1FThLZqlp


5. Match the structures given in Column I with the names in Column II. 

Watch Video Solution

6. Match the reactions given in Column I with the names given in Column

II. 

Watch Video Solution

https://dl.doubtnut.com/l/_qWY1FThLZqlp
https://dl.doubtnut.com/l/_BPFOch1uFoLC


Ncert Examplar Problems Assertion And Reason Type Questions

1. Assertion ( A) Phosphorus chlorides ( tri and penta) are preferred over

thionyl chloride for the preparation of alkyl chlorides from alcohols. 

Reason (R) Phosphorus chlorides give pure alkyl halides.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion is wrong but reason is correct statement.

Answer: B

Watch Video Solution

2. Assertion( A) The boiling points of alkyl halides decrease in the order

 
RI > RBr > RCl > RF

https://dl.doubtnut.com/l/_5MJgzEc4Ogr4
https://dl.doubtnut.com/l/_A7fj2xML2ITR


Reason (R) The boiling points of alkyl chlorides, bromides and iodides
are

considerably higher than that of the hydrocarbon of comparable

molecular mass.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion and reason both are correct statements but reason is not

correct explanation of assertion

Answer: D

Watch Video Solution

3. Assertion: KCN reacts with methyl chloride to give methyl isocyanide 

Reason:  is an ambident nucleophile.CN −

https://dl.doubtnut.com/l/_A7fj2xML2ITR
https://dl.doubtnut.com/l/_86pd30Tz2BnX


A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion is wrong but reason is correct statement.

Answer: D

Watch Video Solution

4. Assertion: tert-Butyl bromide undergoes Wurtz reaction to give 2,2,3,3-

tetramethylbutane. 

Reason: In Wurtz reaction, alkyl halides react with sodium in dry ether to

give hydrocarbon containing double the number of carbon atoms

present in the halide.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

https://dl.doubtnut.com/l/_86pd30Tz2BnX
https://dl.doubtnut.com/l/_Mv9saKTMedgz


B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion is wrong but reason is correct statement.

Answer: D

Watch Video Solution

5. Assertion: Presence of a nitro group at ortho or para position increases

the reactivity of haloarenes towards nucleophilic substitution. 

Reason: Nitro group, being an electron withdrawing group decreases the

electron density over the benzene ring.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion is wrong but reason is correct statement.

https://dl.doubtnut.com/l/_Mv9saKTMedgz
https://dl.doubtnut.com/l/_d6nhnRma8dR3


Answer: A

Watch Video Solution

6. Assertion: In monohaloarenes, further electrophilic substitution occurs

at ortho and para position 

Reason: Halogen atom is a ring deactivator

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion and reason both are correct statements but reason is not

correct explanation of assertion

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_d6nhnRma8dR3
https://dl.doubtnut.com/l/_R1jhuzyC8bMy


7. Assertion: Aryl iodides can be prepared by reaction of arenes with

iodine in the presence of an oxidising agent. 

Reason: Oxidising agent oxidises  into HI.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion is wrong but reason is correct statement.

Answer: C

Watch Video Solution

I2

8. Assertion: It is difficult to replace chlorine by  in chlorobenzene

in comparison to that in chloroethane 

Reason: Chlorine-carbon (C-Cl) bond in chlorobenzene has a partial

double bond character due to resonance.

−OH

https://dl.doubtnut.com/l/_BABgTL3dqfJd
https://dl.doubtnut.com/l/_1XokfQEewSgP


A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion is wrong but reason is correct statement.

Answer: A

Watch Video Solution

9. Assertion: Hydrolysis of (-)-2- bromooctane proceeds with inversion of

configuration. 

Reason: This reaction prioceeds through the formation of a carbocation.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

https://dl.doubtnut.com/l/_1XokfQEewSgP
https://dl.doubtnut.com/l/_VTfTbk5V6Rjc


D. Assertion is wrong but reason is correct statement.

Answer: C

Watch Video Solution

10. Assertion (A) Nitration of chlorobenzene leads to the formation of m-

nitrochlorobenzene. 

Reason (R)  group is a m-directing group.

A. Assertion and reason both are correct and reason is correct

explanation of assertion.

B. Assertion and reason are both are wrong statements

C. Assertion is correct but reason is wrong

D. Assertion is wrong but reason is correct statement.

Answer: D

Watch Video Solution

−NO2

https://dl.doubtnut.com/l/_VTfTbk5V6Rjc
https://dl.doubtnut.com/l/_gw3aUXYNhC4s


Memory Test A Say True Or False

1. The dipole moment of  is greater than that of .

Watch Video Solution

CH3F CH3Cl

2. In general, alkyl halides are more reactive than aryl halides.

Watch Video Solution

3.  is more reactive than  towards KCN.

Watch Video Solution

CH3CH2I CH3CH2Cl

4. Carbon tetrachloride is inflammable.

Watch Video Solution

https://dl.doubtnut.com/l/_gw3aUXYNhC4s
https://dl.doubtnut.com/l/_DJ5NS52aMUGm
https://dl.doubtnut.com/l/_CKCsiSH0xaXJ
https://dl.doubtnut.com/l/_tQ39aVaCZIgX
https://dl.doubtnut.com/l/_HN15bjtWJEbS


5.  is more/less reactive than .

Watch Video Solution

CH3CH = CHCl CICH2CH = CH2 ?

6. Give True or False.
 - Trichloropentane has three asymmetric

carbon atoms.

Watch Video Solution

2, 3, 4

7. Addition of  to propene in the presence of peroxides gives 3-

bromo-1, 1, 1-trichloro-2-methylpropane.

Watch Video Solution

BrCCI3

8. Iodide is a better nucleophile than bromide.Explain

Watch Video Solution

https://dl.doubtnut.com/l/_HN15bjtWJEbS
https://dl.doubtnut.com/l/_AnlCupG77eT4
https://dl.doubtnut.com/l/_qLNIUossjoti
https://dl.doubtnut.com/l/_bB5qxIrNFuIa
https://dl.doubtnut.com/l/_Z7pu9bP39DNP


9. Chlorobenzene gives a white precipitate with alcoholic silver nitrate

solution.

Watch Video Solution

10. Explain why the addition of HI to 3,3-dimethylbut-1-ene gives 2-iodo-

2,3-dimethylbutane as the major product and not the 2-iodo-3,3-

dimethylbutane.

Watch Video Solution

11. Cheak Whatever given statement is true or False .Bromoethane reacts

with silver nitrite to form ethyl nitrite.

Watch Video Solution

12. 1, 1-Dichloroethane reacts with aqueous KOH to give ethanal.

https://dl.doubtnut.com/l/_zSAk6RMy16aD
https://dl.doubtnut.com/l/_9tuK6ZyzuIjI
https://dl.doubtnut.com/l/_HAp02asew8Yi
https://dl.doubtnut.com/l/_crai1XXQ95Wb


Memory Test B Complete The Missing Links

Watch Video Solution

13. Thioethers are obtained by reacting alkyl halides with sodium

hydrosulphide.

Watch Video Solution

14. Boiling point of iodobenzene is more than that of bromobenzene.
true

or false?

Watch Video Solution

1. Isobutyl bromide is an example of ............. alkyl halide.

Watch Video Solution

https://dl.doubtnut.com/l/_crai1XXQ95Wb
https://dl.doubtnut.com/l/_lG30nEh0q0Kk
https://dl.doubtnut.com/l/_hqfPTYgaKi1o
https://dl.doubtnut.com/l/_64Bi2FFtnF2L
https://dl.doubtnut.com/l/_h9YbeO4xoIdH


2. Nitroalkanes are formed when alkyl alides react with____while alkyl

nitrites are formed when alkyl halides are treated with_____.

Watch Video Solution

3. Hydrolysis of 2-bromo-3-methylbutane gives ..... .the major product.

Watch Video Solution

4. Toluene reacts with  in the presence of  to give ............ .

Watch Video Solution

CI2 FeCl3

5. DDT is prepared by condensing chlorobenzene with

Watch Video Solution

https://dl.doubtnut.com/l/_h9YbeO4xoIdH
https://dl.doubtnut.com/l/_Nvd3UfKvmmJA
https://dl.doubtnut.com/l/_8saHJfMZdacO
https://dl.doubtnut.com/l/_usUQtuV8XTpY


6. Formation of phenol from chlorobenzene is an example of 

…. Aromatic substitution.

Watch Video Solution

7. Iodobenzene on heating with copper powder forms dipenyl. The

reaction is called_______.

Watch Video Solution

8. Butanenitrile can be prepared by heating_____with alcoholic KCN.

Watch Video Solution

9. With potassium cyanide, alkyl halides give_____while with silver

cyanide_____are the major products.

Watch Video Solution

https://dl.doubtnut.com/l/_NtkPxmTSE6yn
https://dl.doubtnut.com/l/_toINIVPNUgJl
https://dl.doubtnut.com/l/_b7l1ClKCfPum
https://dl.doubtnut.com/l/_HdvlRhzWKywa


Memory Test C Choose The Correct Alternative

10. Alkyl halides are less soluble in water because

Watch Video Solution

11. BHC is

Watch Video Solution

1. Reaction of alkyl halide with potassium sulphide gives

.

Watch Video Solution

thioethers/thioalcohols

https://dl.doubtnut.com/l/_HdvlRhzWKywa
https://dl.doubtnut.com/l/_zafl8vgwfMuA
https://dl.doubtnut.com/l/_snC6CasQinrn
https://dl.doubtnut.com/l/_ncr7EYwC1sAF


2. Boiling point of tert-butyl bromide is  than that of n-

butylbromide.

Watch Video Solution

less/more

3. Aryl bromides can be prepared by reacting silver salt of aromatic acids

with  in . This reaction is called 

 reaction.

Watch Video Solution

Br2 CCI4

Hunsdiecker reaction/Balz-Schiemann

4. Dipole moment of  is  than that of .

Watch Video Solution

CH3F less/more CH3CI

5. Dipole moment of o-dichlorobenzene is  than that of m-

dichlorobenzene.

less/more

https://dl.doubtnut.com/l/_lQ09rkM4YnFo
https://dl.doubtnut.com/l/_h9d2xxjj271I
https://dl.doubtnut.com/l/_aO00PD6oeYIE
https://dl.doubtnut.com/l/_0KrdFpLp1DY6


Watch Video Solution

6.  proceeds through the formation of a carbocation.`

Watch Video Solution

SN1/SN2

7. CHBrCIF has  carbon atom.

Watch Video Solution

chiral/achiral

8.  reaction occurs with .

Watch Video Solution

SN2 inversion of configuration/racemisation

9. Out of  the

compound  undergoes faster  reaction.I /II SN1

https://dl.doubtnut.com/l/_0KrdFpLp1DY6
https://dl.doubtnut.com/l/_TGC15Ik6PXWz
https://dl.doubtnut.com/l/_wREVzbqIJEld
https://dl.doubtnut.com/l/_27NYXFLrWZUK
https://dl.doubtnut.com/l/_ggih1jrZByLO


Revision Exercise Objective Questions Multiple Choice Questions

Watch Video Solution

10. Iodobenzene on heating with copper powder forms dipenyl. The

reaction is called_______.

Watch Video Solution

11.  is  reactive than .

Watch Video Solution

C6H5Cl less/more C6H11Cl

12.  has been used as antiseptic.

Watch Video Solution

Tetrachloromethane/triiodomethane

https://dl.doubtnut.com/l/_ggih1jrZByLO
https://dl.doubtnut.com/l/_3Qjb9uAHuiln
https://dl.doubtnut.com/l/_luke7LMp93at
https://dl.doubtnut.com/l/_DQoC0C0Y3cTo


1. The IUPAC name of  is

A. 1-chloro-1, 1, 1-trichloromethane

B. 2-chloro-2-methylpropane

C. 2-chlorobutane

D. Trimethylchloromethane

Answer: B

Watch Video Solution

(CH3)3CCl

2. Which of the following is not a chiral ?

A. 3-Methylhexane

B. 2, 3-Dihydroxypropanoic acid

C. 2, 3-Dibromobutane

D. Butan-2-ol

https://dl.doubtnut.com/l/_Vx12XsaUzP6E
https://dl.doubtnut.com/l/_sULMJxyF9IKv


Answer: C

Watch Video Solution

3. The reaction : 

 is called :

A. Sandmeyer's reaction

B. Fittig reaction

C. Wurtz reaction

D. Williamson's synthesis.

Answer: C

Watch Video Solution

RX + 2Na + RX
Dry ether
−−−−−→ R − R + 2NaX

4. In  reaction, the order of reactivity of halides isSN1

https://dl.doubtnut.com/l/_sULMJxyF9IKv
https://dl.doubtnut.com/l/_bw8Ijve5ANtC
https://dl.doubtnut.com/l/_466YMVVcHm76


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3∘ > 2∘ > 1∘ > methyl

methyl > 1∘ > 2∘ > 3∘

3∘ > 2∘ 1∘ > methyl

2∘ > 1∘ > methyl > 3∘

5. C—X bond is strongest in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3Cl

CH3Br

CH3F

CH3I

https://dl.doubtnut.com/l/_466YMVVcHm76
https://dl.doubtnut.com/l/_MmkI4ZcuAi2l


6. Reactivity order of halides of dehydrohalogenation is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

R − F > R − Cl > R − Br > R − I

R − I > R − Br > R − Cl > R − F

R − I > R − Cl > R − Br > R − F

R − F > R − I > R − Br > R − Cl

7. Which one of the following gives only one monochloro derivative?

A. n-hexane

B. 2-methylpentane

C. 2,3-dimethylpentane

https://dl.doubtnut.com/l/_MmkI4ZcuAi2l
https://dl.doubtnut.com/l/_6pQtJuDLwIcU
https://dl.doubtnut.com/l/_TYAbqffnAuB4


D. neo-pentane

Answer: D

Watch Video Solution

8. DDT is prepared by condensing chlorobenzene with

A. chloroform

B. chloral

C. aniline

D. chloropicrin.

Answer: B

Watch Video Solution

9.  on heating with alcoholic KOH will produceC2H5Cl

https://dl.doubtnut.com/l/_TYAbqffnAuB4
https://dl.doubtnut.com/l/_ExUiKnPEqZyv
https://dl.doubtnut.com/l/_rhZmfRybjjUQ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C2H5OH

C2H4

C2H2

C2H6

10. Alkyl halides are less soluble in water because

A. Low melting point

B. Do not form H-bond with 

C. Viscous in nature

D. Have very strong C-X bond

Answer: B

Watch Video Solution

H2O

https://dl.doubtnut.com/l/_rhZmfRybjjUQ
https://dl.doubtnut.com/l/_Qk5m9mdCu3mE


11. Among the following, which one is chlorine containing insecticide?

A. D.D.T.

B. Freon

C. Phosgene

D. Iodoform

Answer: A

Watch Video Solution

12. The boiling points of haloalkanes follow the order:

A. 

B. 

C. 

RI > RBr > RCI

RCI > RBr > RI

RI > RCI > RBr

https://dl.doubtnut.com/l/_Qk5m9mdCu3mE
https://dl.doubtnut.com/l/_a7IRE7ZQq0Lk
https://dl.doubtnut.com/l/_uJCWF9oSGQ3I


D. 

Answer: A

Watch Video Solution

RBr > Rl > RCI

13. Which of the following has highest dipole moment:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3F

CH3Cl

CCl4

CH3I

14. Which of the following is not a polyhalogen compound?

https://dl.doubtnut.com/l/_uJCWF9oSGQ3I
https://dl.doubtnut.com/l/_AtsU978SJpU0
https://dl.doubtnut.com/l/_FZmEzfxdUJuG


A. Chloroform

B. Freon

C. Carbon tetrachloride

D. Chlorobenzene

Answer: D

Watch Video Solution

15. The ease of dehydrohalogenation of alkyl halide with alcoholic KOH is-

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

3∘ < 2∘ < 1∘

3∘ > 2∘ > 1∘

3∘ < 2∘ > 1∘

https://dl.doubtnut.com/l/_FZmEzfxdUJuG
https://dl.doubtnut.com/l/_iM2TC4TpLLgx


16. Alkyl halides are prepared from alcohol by treating with:

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

HCl + ZnCl2

H2SO4 + KI

NaCl + H2SO4

17. The organic chloro compound, which shows complete stereochemical

inversion during a  reaction, is:

A. 

B. 

C. 

SN 2

CH3Cl

(CH3)2CH − Cl

(CH3)3C − Cl

https://dl.doubtnut.com/l/_iM2TC4TpLLgx
https://dl.doubtnut.com/l/_sPJhFa5O5x47
https://dl.doubtnut.com/l/_u2ckCOolSXMQ


D. None of these

Answer: A

Watch Video Solution

18. Which of the following reaction is most suitable for the preparation of

n-propylbenzene?

A. Friedel-Crafts alkylation

B. Wurtz reaction

C. Wurtz-Fitting reaction

D. Grignard reaction

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_u2ckCOolSXMQ
https://dl.doubtnut.com/l/_AghH8rLijsDi


19.  


The reaction is:

A. Stephen

B. Sandmeyer's

C. Fittig

D. Wurtz-Fitting

Answer: D

Watch Video Solution

20. In the given alkyl halides which one has minimum boiling point?

A. 

B. 

C2H5F

C2H5I

https://dl.doubtnut.com/l/_m3PH1RJSF0jO
https://dl.doubtnut.com/l/_KYsVP0D015Sd


C. 

D. 

Answer: A

Watch Video Solution

C2H5Cl

C2H5Br

21.  reaction will be fastest in:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SN2

CH3Br

CH3Cl

CH3CH2Cl

(CH3)2CHCl

https://dl.doubtnut.com/l/_KYsVP0D015Sd
https://dl.doubtnut.com/l/_bdRA9vkwExaG


22. For the compounds,  and 

 which of the

following is the correct order of C-halogen bond length?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3Cl, CH3I, CH3Br

https://dl.doubtnut.com/l/_LU1ucwbQjcZ9
https://dl.doubtnut.com/l/_mzmVMw883Olw


23. Which of the following organic compounds are formed by Wurtz

reaction?

A. Alcohols

B. Hydrocarbons

C. Haloalkanes

D. Haloarenes

Answer: B

Watch Video Solution

24. In the preparation of alkyl halide from alcohol which of the following

reagents preferred?

A. 

B. 

C. 

HX + ZnCl2

PX3

PCl5

https://dl.doubtnut.com/l/_mzmVMw883Olw
https://dl.doubtnut.com/l/_wTJHBrPMI4do


D. 

Answer: D

Watch Video Solution

SOCl2

25. Complete the following reaction

A. 

B. 

C. 

https://dl.doubtnut.com/l/_wTJHBrPMI4do
https://dl.doubtnut.com/l/_maNufhvgdMrL


D. 

Answer: B

Watch Video Solution

26. Select the correct answer 

A. (i)-(C), (ii)-(A)

B. (i)-(B), (ii)-(A)

C. (i)-(C), (ii)-(B)

https://dl.doubtnut.com/l/_maNufhvgdMrL
https://dl.doubtnut.com/l/_NggUxV5KkHib


D. (i)-(D), (ii)-(A)

Answer: D

Watch Video Solution

27. Select the correct answer 

A. (i)-(C), (ii)-(A), (iii)-(D)

B. (i)-(D), (ii)-(A), (iii)-(C)

C. (i)-(B), (ii)-(A), (iii)-(D)

D. (i)-(C), (ii)-(D), (iii)-(A)

https://dl.doubtnut.com/l/_NggUxV5KkHib
https://dl.doubtnut.com/l/_nzByjhBfVoB2


Answer: A

Watch Video Solution

28. Select the correct answer 

A. (i)-(A), (ii)-(B)

B. (i)-(B), (ii)-(C)

C. (i)-(B), (ii)-(D)

D. (i)-(A), (ii)-(C)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nzByjhBfVoB2
https://dl.doubtnut.com/l/_z36vs3vX2Kow


29. Select the correct answer 

A. (i)-(D), (ii)-(A), (iii)-(B), (iv)-(C)

B. (i)-(D), (ii)-(B), (iii)-(C), (iv)-(A)

C. (i)-(D), (ii)-(C), (iii)-(B), (iv)-(A)

D. (i)-(D), (ii)-(B), (iii)-(A), (iv)-(C)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_z36vs3vX2Kow
https://dl.doubtnut.com/l/_NsBgGkqHZ4w9


Revision Exercise Objective Questions Passage Based Questions

30. Select the correct answer 

A. (i)-(C), (ii)-(B)

B. (i)-(B), (ii)-(C)

C. (i)-(A), (ii)-(D)

D. (i)-(A), (ii)-(C)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_p85VdIeoN2cG


1. Alkylhalides have polar C-X bond and undergo nucleophilic substitution

reactions. These give a variety of products with nucleophiles such as

,

etc. They undergo mainly two types of nucleophilic substitution reactions,

 and .  reactions are two steps reactions which proceed

through the formation of carbocations while  reactions are one step

reaction which proceeds through the formation of transition state. The

stability of carbocation and transition state determine the reactivity of

alkyl halides. 

Write the main products A and B in the following reaction. 

.

Watch Video Solution

−OH, − OR, − NH2, − CN, − NC, − NO2, − ONO, RCOO−

SN1 SN2 SN1

SN2

A
KNO2

←−−− CH3CH2Br
AgNO2

−−−→ B

2. Alkylhalides have polar C-X bond and undergo nucleophilic substitution

reactions. These give a variety of products with nucleophiles such as

,

etc. They undergo mainly two types of nucleophilic substitution reactions,

−OH, − OR, − NH2, − CN, − NC, − NO2, − ONO, RCOO−

https://dl.doubtnut.com/l/_6h62Zq7O3jLF
https://dl.doubtnut.com/l/_6tex1qSECMZ5


 and .  reactions are two steps reactions which proceed

through the formation of carbocations while  reactions are one step

reaction which proceeds through the formation of transition state. The

stability of carbocation and transition state determine the reactivity of

alkyl halides. 

Complete the reaction: 

Watch Video Solution

SN1 SN2 SN1

SN2

CH3CH2Br
Ag2O

−−→
Heat

3. Alkylhalides have polar C-X bond and undergo nucleophilic substitution

reactions. These give a variety of products with nucleophiles such as

,

etc. They undergo mainly two types of nucleophilic substitution reactions,

 and .  reactions are two steps reactions which proceed

through the formation of carbocations while  reactions are one step

reaction which proceeds through the formation of transition state. The

stability of carbocation and transition state determine the reactivity of

alkyl halides. 

−OH, − OR, − NH2, − CN, − NC, − NO2, − ONO, RCOO−

SN1 SN2 SN1

SN2

https://dl.doubtnut.com/l/_6tex1qSECMZ5
https://dl.doubtnut.com/l/_Zuw2XL9nSepu


Arrange the following in the increasing order of reactivity towards 

reaction: 

Watch Video Solution

SN2

4. Alkylhalides have polar C-X bond and undergo nucleophilic substitution

reactions. These give a variety of products with nucleophiles such as

,

etc. They undergo mainly two types of nucleophilic substitution reactions,

 and .  reactions are two steps reactions which proceed

through the formation of carbocations while  reactions are one step

reaction which proceeds through the formation of transition state. The

stability of carbocation and transition state determine the reactivity of

alkyl halides. 

Write the structure of isomer of compound  which is most

reactive towards  reaction.

−OH, − OR, − NH2, − CN, − NC, − NO2, − ONO, RCOO−

SN1 SN2 SN1

SN2

C4H9Br

SN1

https://dl.doubtnut.com/l/_Zuw2XL9nSepu
https://dl.doubtnut.com/l/_Ui7gFL3S4yxD


Watch Video Solution

5. Alkylhalides have polar C-X bond and undergo nucleophilic substitution

reactions. These give a variety of products with nucleophiles such as

,

etc. They undergo mainly two types of nucleophilic substitution reactions,

 and .  reactions are two steps reactions which proceed

through the formation of carbocations while  reactions are one step

reaction which proceeds through the formation of transition state. The

stability of carbocation and transition state determine the reactivity of

alkyl halides. 

Which out of  or  results into inversion of configuration?

Watch Video Solution

−OH, − OR, − NH2, − CN, − NC, − NO2, − ONO, RCOO−

SN1 SN2 SN1

SN2

SN1 SN2

6. Ethyl bromide reacts with alcoholic solution of KCN and AgCN to give

different products having same molecular formula. These further react

with other reagents to form different products. 

https://dl.doubtnut.com/l/_Ui7gFL3S4yxD
https://dl.doubtnut.com/l/_yF87fsTkF3vU
https://dl.doubtnut.com/l/_TXoiN7mZ0zl2


Name the different products formed by reaction of ethyl bromide with

KCN and AgCN.

Watch Video Solution

7. Ethyl bromide reacts with alcoholic solution of KCN and AgCN to give

different products having same molecular formula. These further react

with other reagents to form different products. 

How are these two compounds related?

Watch Video Solution

8. Ethyl bromide reacts with alcoholic solution of KCN and AgCN to give

different products having same molecular formula. These further react

with other reagents to form different products. 

Complete the reaction: 

Watch Video Solution

CH3CH2Br
alc .KCN
−−−−−→ A

Na ,C2H5OH
−−−−−−−→ B

https://dl.doubtnut.com/l/_TXoiN7mZ0zl2
https://dl.doubtnut.com/l/_up03YclrKEkN
https://dl.doubtnut.com/l/_yrvzPAwZ4EMl


Revision Exercise Objective Questions Assertion Reason Questions

9. Ethyl bromide reacts with alcoholic solution of KCN and AgCN to give

different products having same molecular formula. These further react

with other reagents to form different products. 

How will you convert ethyl bromide into N-methyl aminoethane? Give

reaction.

Watch Video Solution

10. Ethyl bromide reacts with alcoholic solution of KCN and AgCN to give

different products having same molecular formula. These further react

with other reagents to form different products. 

How will you convert ethyl bromide into ethanamide? Give reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_yrvzPAwZ4EMl
https://dl.doubtnut.com/l/_SK1vzYlfi20D
https://dl.doubtnut.com/l/_WqpmrTmWv6kH


1. Assertion: Addition of  to -butane gives two optical isomers. 


Reason: The product contains one asymmetric carbon atoms.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: A

Watch Video Solution

Br2 1

2. Assertion:  reactions proceed with inversion of configuration 


Reason:  reactions occur in one step .

SN2

SN2

https://dl.doubtnut.com/l/_F1YNR3F9sv6R
https://dl.doubtnut.com/l/_hePbKTtndTwO


A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: B

Watch Video Solution

3. A) Addition of bromine to trans-but-2-ene yields meso-2,3-dibromo

butane. 

R) Bromine addition to an alkene is an electrophilic addition.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

https://dl.doubtnut.com/l/_hePbKTtndTwO
https://dl.doubtnut.com/l/_HpZqFwYqJhxr


B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: B

Watch Video Solution

4. Assertion: Benzyl bromide when kept in acetone water produces benzyl

alcohol. 

Reason: The reaction follows  mechanism.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement.

SN2

https://dl.doubtnut.com/l/_HpZqFwYqJhxr
https://dl.doubtnut.com/l/_a1I8bj6nI52A


D. Assertion is wrong statement but reason is correct statement.

Answer: C

Watch Video Solution

5. Assertion (A) : The nucleophilic substitution of vinylchloride is difficult

as compared to ethyl chloride. 

Reason (R ) : The vinyl group is electron donating in vinyl chloride.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: C

https://dl.doubtnut.com/l/_a1I8bj6nI52A
https://dl.doubtnut.com/l/_nLkIDzE3pXvm


Watch Video Solution

6. Assertion: tert-butylbromide undergoes  nucleophilic substitution

readily than n-butyl bromide. 

Reason: It proceeds by the formation of stable carbocation.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: A

Watch Video Solution

SN1

https://dl.doubtnut.com/l/_nLkIDzE3pXvm
https://dl.doubtnut.com/l/_ekkj0otWBIKs


7. Assertion : Treatment of chloroethane with a saturated solution of

AgCN gives ethyl isocyanide as the major product. 

Reason : Cyanide  is an ambident nucelophile

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: B

Watch Video Solution

(CN − )

8. Assertion : Alkyl iodide can be prepared by treating alkyl

chloride/bromide with Nal in acetone . 

https://dl.doubtnut.com/l/_SrGTqBFrqgD9
https://dl.doubtnut.com/l/_4o80ycgtMPJn


Revision Exercise Very Short Answer Questions

Reason : NaCI/NaBr are soluble in acetone while Nal is not .

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: C

Watch Video Solution

1. how will you prepare 1-bromopropane from propene?

Watch Video Solution

https://dl.doubtnut.com/l/_4o80ycgtMPJn
https://dl.doubtnut.com/l/_lVBwvQnIRVur


2. Write the structure of 2-chloro-3-methylpentane.

Watch Video Solution

3. Out of  reaction, which is accompanied by inversion of

configuration?

Watch Video Solution

SN 1 and SN 2

4.  


Complete the reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_mwToTXW65Bu3
https://dl.doubtnut.com/l/_teFSbmFdZFcA
https://dl.doubtnut.com/l/_nsggOIGDyfry


5. Define ambident nucleophile with an example.

Watch Video Solution

6. Write the structural formula of 4-chloropent-2-ene.

Watch Video Solution

7. Write the IUPAC name of

Watch Video Solution

https://dl.doubtnut.com/l/_t9IWfH4I7z3a
https://dl.doubtnut.com/l/_PeL8SHhlDWUL
https://dl.doubtnut.com/l/_8abNoo3ay9Hj


8. Out of o- and p-dibromobenzene which one has higher melting point

and why?

Watch Video Solution

9. Write the chemical equation of Hunsdiecker reaction.

Watch Video Solution

10. Complete the following reaction: 

Watch Video Solution

https://dl.doubtnut.com/l/_5qAqBgXuLOP3
https://dl.doubtnut.com/l/_KO9CE52hgpec
https://dl.doubtnut.com/l/_LkY3XJT1rMUi


11. A solution of aqueous of KO hydrolysis

. Which one of these is

more easily hydrolysed.?

Watch Video Solution

CH3CHClCH2CH3 and CH3CH2CH2CH2Cl

12. Give an example of  -elimination reaction of alkyl halides.

Watch Video Solution

β

13. Write the IUPAC name of

Watch Video Solution

https://dl.doubtnut.com/l/_PyZR61BuUbOR
https://dl.doubtnut.com/l/_W6LnkVzcRn9o
https://dl.doubtnut.com/l/_uusxeMa08y2a


14. Which of the following is most reactive towards  reaction? 


Watch Video Solution

SN2

CH3Br, (CH3)2CHBr, (CH3)3CBr

15. WURTZ REACTION

Watch Video Solution

16. . 


Name the reaction.

Watch Video Solution

H3C − Br + AgF → H3C − F + AgBr

17. Write the IUPAC name of the following compound : 

Watch Video Solution

(CH3)3CCH2Br

https://dl.doubtnut.com/l/_t5W6PFXVj25G
https://dl.doubtnut.com/l/_4ul0Ny8icNr0
https://dl.doubtnut.com/l/_mBCfdZgO0kal
https://dl.doubtnut.com/l/_kgLy4n9E7Dg6


18. Give the IUPAC name of the following compound. 

Watch Video Solution

CH2 = C − C  
|      

CH3

H2Br

19. Draw the structure of DDT.

Watch Video Solution

20. What happens when  is treated with KCN?

Watch Video Solution

CH3 − Br

21. Write the IUPAC name of .

Watch Video Solution

CH3CH = CH −

CH3

∣

C
∣

Br

— CH3

https://dl.doubtnut.com/l/_kgLy4n9E7Dg6
https://dl.doubtnut.com/l/_rMaMNqTk5abZ
https://dl.doubtnut.com/l/_7SvoLtNlYDlA
https://dl.doubtnut.com/l/_PMSMchBxbNW8
https://dl.doubtnut.com/l/_wFgdsS5bhcf5


22. Write the IUPAC name of .

Watch Video Solution

(CH3)2CHCH(CI)CH3

23. Which compound in the following pair undergoes faster 

reaction? 

Watch Video Solution

SN1

24. Arrange the following halides in order of increasing  reactivity: 


Watch Video Solution

SN2

(CH3)3CCl, CH3Cl, CH3Br, CH3CH2Cl, (CH3)2CHCI

https://dl.doubtnut.com/l/_wFgdsS5bhcf5
https://dl.doubtnut.com/l/_E5hQMN1U5wjB
https://dl.doubtnut.com/l/_R2AflBcDoJN8
https://dl.doubtnut.com/l/_Nv3V7XqZ22wf
https://dl.doubtnut.com/l/_mzGLHJf7N76k


25. Which would undergo  reaction faster in the following pair and

why? 

.

Watch Video Solution

SN 2

CH3 − CH2 − Br and CH3 −

CH3

∣

C
∣

CH3

− Br

26. Out  and  , which

is more reactive towards  reaction and why?

Watch Video Solution

CH3 − CH
∣

CH3

− CH2 − Cl CH3 − CH2 − CH
∣

CH3

− Cl

SN1

27. What product is obtained when toluene is treated with Cl in the

presence of light.

Watch Video Solution

https://dl.doubtnut.com/l/_mzGLHJf7N76k
https://dl.doubtnut.com/l/_PsskBhaNwhYy
https://dl.doubtnut.com/l/_hGHrA2Za79PJ


28. Write the structure of 1-Bromo-4-chlorobut-2-ene

Watch Video Solution

29. Write the structure of 3-Bromo-2-methylprop-1-ene

Watch Video Solution

https://dl.doubtnut.com/l/_Bg1KTZa7hWgA
https://dl.doubtnut.com/l/_n9qZjjSRaL5e


30. Write IUPAC name of the given compound: 

Watch Video Solution

31. Write one stereochemical difference between  and  reactions.

h id l i

SN1 SN2

https://dl.doubtnut.com/l/_iqU3DAp70raj
https://dl.doubtnut.com/l/_ProkWQa1SpDF


Revision Exercise Very Short Answer Questions Cbse Qs

Watch Video Solution

1. Give the IUPAC name of the following compound: 

Watch Video Solution

https://dl.doubtnut.com/l/_ProkWQa1SpDF
https://dl.doubtnut.com/l/_wRIPC8ewxS55


2. Write IUPAC name of the following : 

Watch Video Solution

3. Write the ItJP AC name of the following compound : 

Watch Video Solution

CH3 −

CH2

∣

C
∣

CH3

− C
∣

Cl

H − CH3

https://dl.doubtnut.com/l/_lVwoR96uq46H
https://dl.doubtnut.com/l/_dVHBZxBlX6DK


4. Write the IUPAC name of the following compound: 

Watch Video Solution

CH3 − C
∣

Br

H − CH2 − C
∣

Cl

H − CH3

5. Write IUPAC name of the following compound: 

Watch Video Solution

https://dl.doubtnut.com/l/_fF0YbETs3ZtJ
https://dl.doubtnut.com/l/_t6Rk5eCoalOC


6. Identify the chiral molecule in the following pair: 

Watch Video Solution

7. Which of the following two reactions is  and why? 


Watch Video Solution

SN2

https://dl.doubtnut.com/l/_t6Rk5eCoalOC
https://dl.doubtnut.com/l/_xqUi9cM8llI0
https://dl.doubtnut.com/l/_XbhJIc061z1P


Revision Exercise Short Answer Questions

8. Out of ,

which is an example of a benzylic halide?

Watch Video Solution

9. Out of , which is an example of vinylic halide?

View Text Solution

10. Out of , which is an example of allylic halide?

View Text Solution

https://dl.doubtnut.com/l/_XbhJIc061z1P
https://dl.doubtnut.com/l/_HKOCHvej1p78
https://dl.doubtnut.com/l/_1z57JJC2KuxK
https://dl.doubtnut.com/l/_f8TW6qil0QNI


1. How is ethyl bromide converted into 

(a) ethanol (b) ethyl acetate 

(c) diethyl amine (d) propanoic acid ?

Watch Video Solution

2. How will you convert: 

(i) n-propyl bromide to iso-propyl bromide 

(ii) 1-Bromopropane into propene 

(iii) 2-Propanol into 1-bromopropane 

(iv) 2-Chlorobutane into butanol ?

Watch Video Solution

3. How will you distinguish between 

(i) Vinyl chloride and ethyl chloride 

(ii) Chlorobenzene and cyclohexyl chloride 

(iii) Ethyl chloride and ethyl bromide ?

https://dl.doubtnut.com/l/_dqzsBvYJqUOc
https://dl.doubtnut.com/l/_7kr566ZOHSeZ
https://dl.doubtnut.com/l/_Wxpr95miLXCS


Watch Video Solution

4. (a) Haloarenes undergo electrophilic substitution reaction at ortho and

para position. Explain. 

(b) Complete the following reaction: 

.

Watch Video Solution

CH2Br
Dry ether
−−−−−→ A

Na ,C2H5OH
−−−−−−−→ B

5. How will you bring about the following conversions? 

(a) Toluene to benzyl alcohol. 

(b) But-1-ene to but-2-ene. 

(c) tert-Butyl bromide to isobutyl bromide.

Watch Video Solution

https://dl.doubtnut.com/l/_Wxpr95miLXCS
https://dl.doubtnut.com/l/_J6TVo8w2Aach
https://dl.doubtnut.com/l/_iEJ27gLONTqo


6. Explain as to why haloarenes are much less reactive than halo-alkanes

towards nucleophilic substitution reactions.

Watch Video Solution

7. Which compound in each of the following pairs will react faster in 

reaction with -OH ? Why? 

(i)  (ii) 

Watch Video Solution

SN2

CH3Br or CH3I (CH3)3CCl or CH3Cl

8. Write the equations for the steps in  mechanism of the conversion

of tert-Butyl bromide into tert-Butyl alcohol. 

(a) Explain Fitting reaction. 

(b) Name the reagent used in the dehydrohalogenation of haloalkanes.

Watch Video Solution

SN1

https://dl.doubtnut.com/l/_dnv1ZuQCeWuq
https://dl.doubtnut.com/l/_zCq0gl8EUYip
https://dl.doubtnut.com/l/_fZcQ8xbyEMBx
https://dl.doubtnut.com/l/_F2rVjeAuDLaZ


9. (i)State one use each of DDT and iodoform. 

(ii) Which compound in the folloeing couples will react faster in `S_(N)2

displacement and why? 

(a)1-Bromopentane or2-bromopentane 

(b) 1-Bromo -2 methylbutane or 2-bromo-2-methylbutane.

Watch Video Solution

10. Explain why 

(i) the dipole moment of chlorobenzene is lower than that of cyclohexyl

chloride? 

(ii) alkyl halides, though polar, are immiscible with water? 

(iii) Grignard reagents should be prepared under anhydrous conditions?

Watch Video Solution

11. Answer the following: 

(i) Haloalkanes easily dissolve in organic solvents, why? 

https://dl.doubtnut.com/l/_F2rVjeAuDLaZ
https://dl.doubtnut.com/l/_ELJJ7GiIzk76
https://dl.doubtnut.com/l/_tHgw64l8frSy


(ii) What is known as a racemic mixture ? Give an example. 

(iii) Of the two bromoderivatives,

, which one is more

reactive in  substitution reaction and why?

Watch Video Solution

C6H5CH(CH3)Br and C6H5CH(C6H5)Br

Sn1

12. Althrough chlorine is an electron withdrawing group, yet it is ortho-

para-directing in electrophilic aromatic substitution reactions. Explain

why it is so ?

Watch Video Solution

13. (a) Explain why thionyl chloride ( ) method is preferred for

preparing alkylchlorides from alcohols. 

(b) Forisomerichaloalkanes, the boiling point decreases with branching of

chain. Why?

Watch Video Solution

SOCI2

https://dl.doubtnut.com/l/_tHgw64l8frSy
https://dl.doubtnut.com/l/_DYbKJTyGDyC9
https://dl.doubtnut.com/l/_8mq7lnurLyP5


14. How will you convert the following (any two)? Give chemical equations

only: 

(i) Ethane to bromoethene 

(ii) Benzene to biphenyl 

(iii) Aniline to chlorobenzene.

Watch Video Solution

15. Explain  reaction mechanism of haloalkane. Arrange the reactivity

of  haloalkane towards  reaction.

Watch Video Solution

SN2

1∘ , 2∘ and 3∘ SN2

16. (a) Explain why haloarenes undergoes electrophilic substitution

reactions at ortho and para positions only 

(b) The p-isomer of dichloro benzene has higher melting point than its

ortho and meta-isomers. Explain.

https://dl.doubtnut.com/l/_8mq7lnurLyP5
https://dl.doubtnut.com/l/_TBVhBtEX2kM5
https://dl.doubtnut.com/l/_4DvJwjJGbsw4
https://dl.doubtnut.com/l/_nIdAvzFyMpKv


Watch Video Solution

17. (a). Complete the reaction: 

 


(b). Explain why the use of chloroform as Anaesthetic is decreasing 

(c). What happens when bromobenzene is treated with magnesium is the

presence of dry ether?

Watch Video Solution

CH3CH2Br + KOH(alc. )

18. Explain why : 

(i) Sulphuric acid is not used during the reaction of alcohols with KI? 

(ii) Allyl chloride is more reactive than n-propyl chloride towards

nucleophilic substitution reactions?

Watch Video Solution

https://dl.doubtnut.com/l/_nIdAvzFyMpKv
https://dl.doubtnut.com/l/_BgkWfWk2MwaE
https://dl.doubtnut.com/l/_a7EEFBKrfT8H


19. Following compounds are given to you : 

2-Bromopentane, 2-Bromo-2-methylbutane, 1-Bromopentane 

(i) Write the compound which is most reactive towards  reaction 


(ii) Write the compound which is optically active 

(iii) Write the compound which is most reactive towards -elimination

reaction

Watch Video Solution

SN2

β

20. (a) Alkyl halides react with  and  to give  and

R-ONO respectively. Why? 

(b) Haloarenes are insoluble in water but are soluble in benzene. Why?

Watch Video Solution

AgNO2 KNO2 R − NO2

21. (a) Write the following reaction: 

(i) Wurtz Fittig reaction 

(ii) Balz-Schiemann reaction 

https://dl.doubtnut.com/l/_a9rSvPUITrJd
https://dl.doubtnut.com/l/_cKwX55fnaSed
https://dl.doubtnut.com/l/_6KVjwFiFwEZp


(iii) Friedal Crafts Alkylation reaction 

(b) Why is solubility of haloalkanes in water very low? 

(c) Give one use of Feron.

Watch Video Solution

22. (a) Why are haloarenes less reactive than haloalkanes? (explain with

resonance and hybridization). 

(b) Explain substitution nucleophilic bimolecular ( ) reaction. 


(c) Define Optical activity.

Watch Video Solution

SN2

23. (a) Haloalkanes react with potassium cyanide (KCN) to give alkyl

cyanide but gives alkyl isocyanide with silver cyanide (AgCN). 

(b) Why are haloarenes more stable than haloalkanes?

Watch Video Solution

https://dl.doubtnut.com/l/_6KVjwFiFwEZp
https://dl.doubtnut.com/l/_26L52loO9nDJ
https://dl.doubtnut.com/l/_BbZAI9HaPAfg
https://dl.doubtnut.com/l/_svjBcyR852PD


24. Give reasons: 

(a) n-Butyl bromide has higher boiling point than t-butyl bromide. 

(b) Racemic mixture is optically inactive. 

(c) The presence of nitro group ( ) at op positions increases the

reactivity of haloarenes towards nucleophilic substitution reactions.

Watch Video Solution

−NO2

25. Explain  reaction mechanism of haloalkanes.

Watch Video Solution

SN2

26. (a) Aryl halides are less reactive in nucleophilic substitution reactions. 

(i) Write any two reasons for less reactivity. 

(ii) Give one example for nucleophilic substitution reactions of aryl

halides 

(b) Write a method for the preparation of alkyl halides. 

(c) Which of the following is not a polyhalogen compound. 

https://dl.doubtnut.com/l/_svjBcyR852PD
https://dl.doubtnut.com/l/_vtPRCOPOU290
https://dl.doubtnut.com/l/_xYPcIwaB25Yz


(i) Chloroform (ii) Freon 

(iii) Carbon tetrachloride (iv) Chlorobenzene

Watch Video Solution

27. Give reasons: 

(i).  bond length in chlorobenzene is shorter than  bond

length in  


(ii). The dipole moment of chlorobenzene is less than of cyclohexyl

chloride. 

(c).  reactions are are accompanied by racemisation is optically active

alkyl halides.

Watch Video Solution

C − Cl C − Cl

CH3 − Cl

SN 1

28. (a) Write the equations for the steps involved in the  mechanism

of hydrolysis of 2-bromo-2-methylpropane. 

(b) (i) Name the product formed for the reaction of isopropyl iodide on

alcoholic KOH. 

SN1

https://dl.doubtnut.com/l/_xYPcIwaB25Yz
https://dl.doubtnut.com/l/_lCdC14H2jYrj
https://dl.doubtnut.com/l/_6Y3C35hUg8Ta


(ii) What is the condition to be satisfied for a compound to be chiral? 

(c) What is racemic mixture?

Watch Video Solution

29. (a) Complete the reaction: 

(i)  


(ii)  


(b) During the B-elimination reaction of 2-bromopentane in an alcoholic

solution of KOH results pent-2-ene as major product and pent-1-ene as

minor product. State the rule to explain the reaction.

Watch Video Solution

CH3CH2Br
AgCN

−−−→

CH3CH2Br
Na

−−−−−→
Dry ether

30. (i) Out of , C-Br and  C-I, which one is more reactive

towards  and why? 


(ii) Write the product formed when P-nitrochlorobenzene is heated with

aqueous NaOH at 443K followed by acidification. 

(CH3)3 (CH3)3

SN1

https://dl.doubtnut.com/l/_6Y3C35hUg8Ta
https://dl.doubtnut.com/l/_4mlvmAAMaGHC
https://dl.doubtnut.com/l/_GRRM6xM0p2kN


Revision Exercise Short Answer Questions Cbse Qs

(iii) Why dextro and laevo-rotatory isomers of Butan-2-ol are difficult to

separate by fractional distillation?

Watch Video Solution

1. How would you differentiate between  and  mechanisms of

substitution reactions? Give one example of each.

Watch Video Solution

SN1 SN2

2. (a) How would you convert the following: 

(i) Prop-1-ene to 1-fluoropropane 

(ii) Chlorobenzene to 2-chlorotoluene 

(b) Write the main product when 

(i) n-Butyl chloride is treated with alcoholic KOH. 

https://dl.doubtnut.com/l/_GRRM6xM0p2kN
https://dl.doubtnut.com/l/_1ZnVjeayJPxX
https://dl.doubtnut.com/l/_NiKAqUeOxucV


Revision Exercise Long Answer Questions

(ii) 2, 4, 6- trinitrochlorobenzene is subjected to hydrolysis. 

(iii) methyl chloride is treated with AgCN.

Watch Video Solution

3. Out of chlorobenzene and chloroethane which is more readily

hydrolysed with aqueous KOH?

Watch Video Solution

1. (a) An organic compound 'A' having molecular formula  on

treatment with dil.  gives B. B on treatment with conc. HCI and

anhydrous  gives secondary halide C. Write all the reactions and

identify A, B and C. 

(b) Convert ethyl chloride into methyl chloride.

Watch Video Solution

C4H8

H2SO4

ZnCI2

https://dl.doubtnut.com/l/_NiKAqUeOxucV
https://dl.doubtnut.com/l/_G7JwYUx8CQd6
https://dl.doubtnut.com/l/_wvzfDnbuR7qy


2. (a) A hydrocarbon 'A' ( ) is added with HBr in accordance with

Markovnikov's rule to give compound 'B' which on hydrolysis with

aqueous alkali forms tertiary alcohol 'C' ( ). Identify A, B and C. 


(b) Convert chlorobenzene into phenol.

Watch Video Solution

C4H8

C4H10O

3. (a) How will you differentiate between  and  reactions? 


(b) Why does the treatment of alkyl chloride with silver nitrate form

nitroalkane and with potassium nitrite form alkyl nitrite?

Watch Video Solution

SN1 SN2

4. (a) An ambident nucleophile is: 

(i) Ammonia (ii) Ammonium ion 

(iii) Chloride ion (iv) Nitrite ion 

(b) Haloalkanes and haloarenes are organohalogen compounds. 

https://dl.doubtnut.com/l/_wvzfDnbuR7qy
https://dl.doubtnut.com/l/_THu01ovZIltK
https://dl.doubtnut.com/l/_68gzCgStdvJG
https://dl.doubtnut.com/l/_iFfRFUvBwzax


Higher Order Thinking Skills

(i) Suggest a method for the preparation of alkyl chloride. 

(ii) Aryl halides are less reactive towards nucleophilic substitution

reactions. Give reasons.

Watch Video Solution

1. Why alkyl halides are generally not prepared in the laboratory by free

radical halogenation of alkanes?

Watch Video Solution

2. Propose reaction for the preparation of: (i) allyl iodide and (ii) allyl

fluoride from prop-1-ene.

Watch Video Solution

https://dl.doubtnut.com/l/_iFfRFUvBwzax
https://dl.doubtnut.com/l/_yQ5Na5o5k8M3
https://dl.doubtnut.com/l/_m0jzsZJRnb84


3. (R)-2-Bromooctane reacts with hydrogen sulphide ( ) ion and gives

(S)-2-octanethiol with inversion of configuration at the stereocentre. Can

we plan to get (R)-2-octanethiol from (R)-2-bromooctane?

View Text Solution

HS −

4. RCI is hydrolysed to ROH slowly but the reaction is rapid if a catalytic

amount of KI is added to the reaction mixture. Explain.

Watch Video Solution

5. Optically active 2-iodo butane on treatment with  in acetone gives

a product which does not show optical activity. Explain briefly.

Watch Video Solution

NaI

https://dl.doubtnut.com/l/_GNqZ4Qh72wWn
https://dl.doubtnut.com/l/_gWqR3k4Xdr4w
https://dl.doubtnut.com/l/_OZfOx9l5JafI


6. An alkyl halide of the folmula  on treatment with

potassium tertiary butoxide gives two isomeric alkenes  and 

. Both the alkenes on hydrogenation give dimethyl

butane. Perdict the structures of  , and 

Watch Video Solution

(X) C6H13Cl

(Y )

(Z)(C6H12) 2, 3 −

(X), (Y ) (Z)

7. A dihalogen derivative (A) of a hydrocarbon having two carbon atoms

reacts with alcoholic potash and forms another hydrocarbon which gives

a red precipitate with ammoniacal cuprous chloride. Compound A gives

an aldehyde when treated with aqueous KOH. Write down the name and

formula for the organic compound.

Watch Video Solution

8. A hydrocarbon with formula  gives one monochloro derivative.

The hydrocarbon can be:

Watch Video Solution

C8H18

https://dl.doubtnut.com/l/_EsNwtipOK9yK
https://dl.doubtnut.com/l/_Hgitlh4k5IGu
https://dl.doubtnut.com/l/_WjS36I5PSe5d


Watch Video Solution

9. If relative rates of substitution of  and  H are in the ratio 1 : 3.8,

show that in the presence of light at 298 K, the chlorination of n-butane

gives a mixture of 72% 2-chlorobutane and 28% 1-chlorobutane.

Watch Video Solution

1∘ 2∘

10. 

Watch Video Solution

C6H5CH2CH(Cl)C6H5

KOH(alc.)
−−−−−→

Heat
[A]

11. Which  reaction would you expect to take place more rapidly ? 


(a) (i)  


Or 

(ii)  


(b) (i)  


Or 

SN1

(CH3)3CCl + H2O → (CH3)3COH + HCl

(CH3)3CBr + H2O → (CH3)3COH + HBr

(CH3)3CCl + H2O → (CH3)3COH + HCl

https://dl.doubtnut.com/l/_WjS36I5PSe5d
https://dl.doubtnut.com/l/_PAirmm4MxJhc
https://dl.doubtnut.com/l/_WOwalPsVMgv3
https://dl.doubtnut.com/l/_zeKFiA7bSocL


(ii)  


(c) (i)  


Or 

(ii)  

(d) (i)

Or 

(ii) 

Watch Video Solution

C5H5Cl + H2O → C5H5OH + HCl

(CH3)3CCl + H2O → (CH3)3COH + HCl

(CH3)3CCl + CH3OH → (CH3)3COCH3 + HCl

(CH3)3CCl(1.0M) + CH3CH2O
− (1.0M)

C2H2OH
−−−−→ (CH3)3COCH2CH3 +

(CH3)3CCl(1.0M) + CH3CH2O
− (2.0M)

C2H2OH
−−−−→ (CH3)3COCH2CH3 +

12. Hydrolysis of 2-bromo-3-methyl butane  yields only 2-methy-2-

butanol , explain.

Watch Video Solution

(2∘ )

(3∘ )

13. Why do alkenes prefer to undergo electrophilec addition reaction

while arenes prefer electrophilic substitution reactions ? Explain.

https://dl.doubtnut.com/l/_zeKFiA7bSocL
https://dl.doubtnut.com/l/_Bp7F0hrVEDbF
https://dl.doubtnut.com/l/_2PgrWuW94eRQ


A Multiple Choice Questions With Only One Correct Answer

Watch Video Solution

1. The IUPAC nane of the compound 

 is

A. 1-Bromobut-2-ene

B. 1-Bromobut-3-ene

C. 2-Butene-1-bromide

D. 4-Bromobut-2-ene.

Answer: A

Watch Video Solution

CH3 − CH = CH − CH2Br

2. In the reaction : 

,  is :CH3CHCl2
aq. KOH
−−−−→ Intermediate → X X

https://dl.doubtnut.com/l/_2PgrWuW94eRQ
https://dl.doubtnut.com/l/_AAokw5Komc7u
https://dl.doubtnut.com/l/_lOG4VbEcFoKD


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CHO

(CH3)2CO

CH3CH2OH

C
∣

OH

H2 − C
∣

OH

H2

3. Identify Z, in the following reaction. 

A. 

B. 

C. 

D. 

Answer: B

C2H5I
alc. KOH
−−−−→ X

Br2

−−→ Y
KCN
−−→ Z

CH3CH2CN

CNCH2CH2CN

BrCH2CH2CN

BrCH = CHCN

https://dl.doubtnut.com/l/_lOG4VbEcFoKD
https://dl.doubtnut.com/l/_LxiGWtA6p3AP


Watch Video Solution

4. In the reaction , 

 


The compound (C) is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3 − CH
∣

Br

− CH3

alc .KOH
−−−−−→ (A)

HBr
−−−−−−−→

Peroxide
(B)

NaI
−−−−−−→

Acetone
(C)

CH3CH2CH2I

CH3C
∣

I

H − CH3

CH3 =
∣

I

CHI

CH3C
∣

I

HCH2I

5. The reagents for the following conversions  : 
is/are

https://dl.doubtnut.com/l/_LxiGWtA6p3AP
https://dl.doubtnut.com/l/_jaeBdkLzpech
https://dl.doubtnut.com/l/_MOewEJL3ZrL5


A. alcoholic KOH

B. 

C. aq. KOH followed by 

D. alcoholic KOH followed by .

Answer: D

View Text Solution

Zn ∣ CH3OH

NaNH2

NaNH2

6. In the following reaction: 

 

The major product obtained is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_MOewEJL3ZrL5
https://dl.doubtnut.com/l/_hwNpBu7NVXaY


Answer: A

View Text Solution

7. In the adddition of  to propene in the absence of peroxides, the

first step involves the addition of-s

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HBr

H ∙

Br ∙

H +

Br−

8. The major product in the reaction is 

CH3 − C
∣

CH3

H − CH2Br
CH3O

−

−−−−→
CH3OH

https://dl.doubtnut.com/l/_hwNpBu7NVXaY
https://dl.doubtnut.com/l/_4OhmvBbDOH5M
https://dl.doubtnut.com/l/_hLzogNPjvvMG


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − C
∣

OCH3

H − CH2CH3

CH3 − C
∣

CH3

= CH2

CH3 − C
∣

CH3

HCH2OCH3

CH3 −

CH3

∣

C
∣

OCH3

− CH3

9. In the reaction: 

 


A and B are respectively:

A. A is  and B is 

B. A is  and B is 

C. Both A and B are 

A
(Major)

C2H5OH
←−−−− (CH3)3CBr −−−−−−−→

C2H5O
− Na+

C2H5OH

B
(Major)

(CH3)2C = CH2 (CH3)3COC2H5

(CH3)3COC2H5 (CH3)2C = CH2

(CH3)2C = CH2

https://dl.doubtnut.com/l/_hLzogNPjvvMG
https://dl.doubtnut.com/l/_eV930kRm0F4a


D. Both A and B are .

Answer: B

Watch Video Solution

(CH3)3COC2H5

10. The product of the reaction of alcoholic silver nitrite with ethyl

bromide is:

A. Ethylene

B. Ethyl nitrite

C. Nitroethane

D. Ethyl alcohol.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_eV930kRm0F4a
https://dl.doubtnut.com/l/_EkHNdo2Ntn3r


11. When ethyl iodide and n-propyl iodide are allowed to react with

sodium in the presence of dry ether, the number of alkanes that would be

produced is

A. only one

B. two alkanes

C. three alkanes

D. four alkanes

Answer: C

Watch Video Solution

12. 1,3-Dibromopropane reacts with metallic zinc to form

A. Propene

B. Propane

C. Cyclopropane

https://dl.doubtnut.com/l/_7iQN6fVREkI9
https://dl.doubtnut.com/l/_F31Vl1WRFoiE


D. Hexane

Answer: C

Watch Video Solution

13. Identify the set of reagents/ reaction condition ‘X’ and ‘Y’ in the

following set of transformations : 

A. X = dilute aqueous solution, , 


 at 

B. X = dilute aqueous NaOH, , 


 at 

C. X = dilute aqueous NaOH, , 


, 

CH3 − CH2 − CH2Br
X

−−→ Product
Y

−−→ CH3 − C
∣

Br

H − CH3

20∘C

Y = HBr /acetic acid 20∘C

20∘C

Y = HBr /acetic acid 20∘C

20∘C

Y = Br/CHCl3 0∘C

https://dl.doubtnut.com/l/_F31Vl1WRFoiE
https://dl.doubtnut.com/l/_ZaNlOikIbILW


D. X = concentrated alcoholic NaOH, , 


, 

Answer: B

Watch Video Solution

80∘C

Y = Br/CHCl3 0∘C

14. Butanenitrile may be prepared by heating

A. propyl alcohol with KCN

B. butyl alcohol with KCN

C. butyl chloride with KCN

D. propyl chloride with KCN.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ZaNlOikIbILW
https://dl.doubtnut.com/l/_nSuaPtHTbFW4


15. Which of the following is least reactive in a nucleophilic substitution

reaction?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2CH2Cl

(CH3)3CCl

CH2 = CHCH2Cl

CH2 = CHCl

16. The most reactive nucleophile among the following is

A. 

B. 

C. 

D. 

CH3O
−

C6H5O
−

(CH3)2CHO−

(CH3)3CO
−

https://dl.doubtnut.com/l/_sJk3QYiAxuGV
https://dl.doubtnut.com/l/_olXywIC3xqJR


Answer: A

Watch Video Solution

17. In the reaction, the major product 'X' is 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

18. Chlorobenzene can be obtained from benzene diazonium chloride by

https://dl.doubtnut.com/l/_olXywIC3xqJR
https://dl.doubtnut.com/l/_K8t40vHvs5B5
https://dl.doubtnut.com/l/_BJ3eRc1mpKhT


A. Gattermann's reaction

B. Friedel Crafts reaction

C. Wurtz reaction

D. Fittig reaction. Amers

Answer: A

Watch Video Solution

19. Which of the following is most reactive toward nucleophilic

substitution reaction ?

A. 

B. 

C. 

D. 

Answer: C

C6H5Cl

CH2 = CHCl

ClCH2CH = CH2

CH3CH = CHCl

https://dl.doubtnut.com/l/_BJ3eRc1mpKhT
https://dl.doubtnut.com/l/_Ip5veaIhMJVo


Watch Video Solution

20. The reaction fo toluenec with  in presence of  gives

prediominantly

A. Benzoyl chloride

B. m-chloro toluene

C. Benzyl chloride

D. o- and p-chlorotoluene.

Answer: D

Watch Video Solution

Cl2 FeCl3

21. Which of the following sequence of reaction (reagents) can be used

for conversion of  into  ?

A. , alc. KOH

C6H5CH2CH3 C6H5CH = CH2

SOCl2

https://dl.doubtnut.com/l/_Ip5veaIhMJVo
https://dl.doubtnut.com/l/_XcIdAu0kBD6k
https://dl.doubtnut.com/l/_HcIVrHDFa4QR


B. 

C. , aq. KOH

D. , alc. KOH

Answer: D

Watch Video Solution

Cl2 /hv, H2O

SO2Cl2

SO2Cl2

22. The increasing order of hydrolysis of the following compounds is 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

A < D < B < C

A < B < D < C

D < C < B < A

A < B < C < D

https://dl.doubtnut.com/l/_HcIVrHDFa4QR
https://dl.doubtnut.com/l/_NMxsQjQ9jp5Q


23. Arrange the following compounds in order of increasing dipole

moment . 

Toluene  m-dichlorobenzene  


o-dichlorobenzene  . P-dichlorobenzene  .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(I) (II)

(III) (IV )

I < IV < II < III

IV < I < II < III

IV < I < III < II

IV < II < I < III

24. In the following sequence of reactions, B is 

C6H6

Cl2
−−→
FeCl3

A
Na

−−→ B

https://dl.doubtnut.com/l/_NMxsQjQ9jp5Q
https://dl.doubtnut.com/l/_1QOTZ2MFbeqo
https://dl.doubtnut.com/l/_s7fsZONLd16T


A. chlorobenzene

B. benzyl chloride

C. diphenyl

D. chlorophenylmethane

Answer: C

Watch Video Solution

25. 2-Phenyl-2-chloropropane on treatment with alc. KOH gives mainly

A. 2-Phenylpropene

B. 3-Phenylpropene

C. 1-Phenylpropan-2-ol

D. 1-Phenylpropan-3-ol

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_s7fsZONLd16T
https://dl.doubtnut.com/l/_zk112B8XMmyC


26. The major product (Z) in the following reaction is : 

A. Benzamide

B. Benzoic acid

C. 2-Phenylethanoic acid

D. Xylene

Answer: C

View Text Solution

27. Fluorobenzene is prepared by treating benzene diazonium chloride

with fluoroboric acid and heating the product obtained. This reaction is

known as:

A. Schiemann reaction

https://dl.doubtnut.com/l/_zk112B8XMmyC
https://dl.doubtnut.com/l/_mYzG3CBhOCvu
https://dl.doubtnut.com/l/_QEGJvIRcFVIx


B. Sandmeyer reaction

C. Gattermann reaction

D. Ullmann reaction.

Answer: A

Watch Video Solution

28. Chlorobenzene is prepared commercially by :

A. Etard reaction

B. Wurtz Fittig reaction

C. Raschig reaction

D. Grignard reaction.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_QEGJvIRcFVIx
https://dl.doubtnut.com/l/_nhflNZ8HoyoV
https://dl.doubtnut.com/l/_NshGRErSztRG


29. When chlorobenzene is treated with  in presence of  in

xylene is 570 K. The product obtained is

A. Aniline

B. Diphenyl

C. Diphenylamine

D. Phenyl isocyanide

Answer: A

Watch Video Solution

NH3 Cu2O

30. The structure of the major product formed in the reaction is 

A. 

B. 

C. 

https://dl.doubtnut.com/l/_NshGRErSztRG
https://dl.doubtnut.com/l/_uQA1uOzme16J


D. 

Answer: C

View Text Solution

31. Which of the following will give yellow precipitateon shaking with an

aqueous solution of NaOH followed by acidification with dil.  and

addition of  solution?

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

HNO3

AgNO3

https://dl.doubtnut.com/l/_uQA1uOzme16J
https://dl.doubtnut.com/l/_khGHzqxeSTWn
https://dl.doubtnut.com/l/_4cVM4R79KltR


32. Freon-12 is commonly used as

A. an insecticide

B. a refrigerant

C. a solvent

D. fire extinguisher.

Answer: B

Watch Video Solution

33. Which of the following is the correct structure of D.D.T.?

A. 

B. 

https://dl.doubtnut.com/l/_4cVM4R79KltR
https://dl.doubtnut.com/l/_CYcuDjgWTKBd


C. 

D. 

Answer: C

Watch Video Solution

34. Benzene hexachloride (BHC) is used as :

A. Dye

B. Antimalarial drug

C. Antibiotic

D. Insecticide.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CYcuDjgWTKBd
https://dl.doubtnut.com/l/_95JCzGN8E4G1


B Multiple Choice Questions From Competitive Examinations

35. what happens when chloroform is exposed to air in presenc of

sunlight ? Explain with suitable mechanism.

A. Carbon tetrachloride

B. Carbonyl chloride

C. Mustard gas

D. Carbon monoxide.

Answer: B

Watch Video Solution

1. In a  substitution reaction of the type 


 


which one of the following has the highest relative rate?

SN2

R − Br + Cl− DMF
−−→ R − Cl + Br+

https://dl.doubtnut.com/l/_rq5ZwjZDygwb
https://dl.doubtnut.com/l/_hWEpepAqXQDZ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3 − C
∣

CH3

H − CH2Br

CH3 −

CH3

∣

C
∣

CH3

− CH2Br

CH3CH2Br

CH3 − CH2 − CH2Br

2. . 


A is predominantly

A. 

B. 

C. 

H3C − CH
∣

CH3

− CH = CH2 + HBr → A

CH3 −

Br

∣

C
∣

CH3

− CH2CH3

CH3 − C
∣

Br

H − C
∣

CH3

H − CH3

CH3 − C
∣

CH3

H − C
∣

Br

H − CH3

https://dl.doubtnut.com/l/_hWEpepAqXQDZ
https://dl.doubtnut.com/l/_POdEewKY0f5c


D. 

Answer: A

Watch Video Solution

CH3 − C
∣

CH3

H − CH2 − CH2Br

3. The hydrolysis of 2-bromo-3-methylbutane by  mechanism gives

mainly:

A. 3-methyl-2-butanol

B. 2-methyl-2-butanol

C. 2,2-dimethyl-2-propanol

D. 2-methyl-1-butanol

Answer: B

Watch Video Solution

SN 1

https://dl.doubtnut.com/l/_POdEewKY0f5c
https://dl.doubtnut.com/l/_XCXBm71MsXny


4. A dihalogen dervative 'X' of a hydrocarbon with three carbon atoms

reacts with alcoholic KOH and produces another hydrocarbon which

forms a red precipitate with ammoniacal  gives an aldehyde

on reaction with aqueous KOH. The compound 'X' is :

A. 1,3-Dichloropropane

B. 1,2-Dichloropropane

C. 2,2-Dichloropropane

D. 1,1-Dichloropropane

Answer: D

Watch Video Solution

Cu2Cl2. 'X'

5. When neopentyl bromide is subjected to Wurtz reaction, the product

formed is

A. 2, 2, 4, 4-tetramethylhexane

https://dl.doubtnut.com/l/_shJs7crIXa4J
https://dl.doubtnut.com/l/_rk7FZRMyIGPQ


B. 2,2, 4, 4-tetramethylpentane

C. 2, 2, 5, 5-tetramethylhexane

D. 2, 2, 3, 3-tetramethylhexane

Answer: C

Watch Video Solution

6. Which one is most reactive towards  reactions ?

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

SN1

C6H5C(CH3)(C6H5)Br

C6H5CH2Br

C6H5CH(C6H5)Br

C6H5CH(CH3)Br

https://dl.doubtnut.com/l/_rk7FZRMyIGPQ
https://dl.doubtnut.com/l/_HkBp4UZahQaj
https://dl.doubtnut.com/l/_z93P8NDtfWtA


7. The correct order of increasing reactivity of C-X bond towards

nucleophile in the following compounds is : 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

IV < III < I < II

III < II < I < IV

I < II < IV < III

II < III < I < IV

8. The reaction of toluene with  in the presence of  gives X and

the reaction in the presence of light gives Y. Thus, X and Y are :

A. X = benzyl chloride, Y = m-chlorotoluene

B. X = benzal chloride, Y = o-chlorotoluene

Cl2 FeCl3

https://dl.doubtnut.com/l/_z93P8NDtfWtA
https://dl.doubtnut.com/l/_3gtUe7dLR7LB


C. X = m-chlorotoluene, Y = p-chlorotoluene

D. X = o- and p-chlorotoluene, Y = trichloromethyl benzene

Answer: D

Watch Video Solution

9. Arrange the following in order of decreasing tendency towards 

reaction : 

A. 

B. 

C. 

D. 

Answer: A

W t h Vid S l ti

SN 2

CH3CH2CH2CH2Cl
(I)

,         CH3CH2CHClCH3,
(II)

(CH3)
2
CHCH2Cl
(III)

,              (CH3)
3
C − Cl

(IV)

I > III > II > IV

III > IV > II > I

II > I > III > IV

IV > III > II > I

https://dl.doubtnut.com/l/_3gtUe7dLR7LB
https://dl.doubtnut.com/l/_NUVGXr5Ywy9z


Watch Video Solution

10. An alkyl halide with molecular formula  on

dehyrohalogenation gives two isomeric alkenes X and Y with molecular

formula . On reductive ozonolysis X and Y gives four compounds 

,  and . The alkyl halide is

A. 2-bromohexane

B. 2,2-dimethyl-1-bromobutane

C. 4-bromo-2-methylpentane

D. 3-bromo-2-methylpentane

Answer: D

Watch Video Solution

C6H13Br

C6H12

CH3COCH3 CH3CH2CHO (CH3)2CHCHO

11. The compound that does not undergo hydrolysis by  mechanism is

:

SN 1

https://dl.doubtnut.com/l/_NUVGXr5Ywy9z
https://dl.doubtnut.com/l/_jyPsWN1QPiBC
https://dl.doubtnut.com/l/_xRNWv8iAKIsJ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH2 = CHCH2Cl

C6H5Cl

C6H5CH2Cl

C6H5CH(CH3)Cl

12. The major product formed when 2-bromo-2-methylbutane is refluxed

with ethanolic KOH is:

A. 2-methylbut-2-ene

B. 2-methylbutan-1-ol

C. 3-methylbutan-2-ol

D. 2-methylbutan-2-ol

Answer: A

https://dl.doubtnut.com/l/_xRNWv8iAKIsJ
https://dl.doubtnut.com/l/_nr4LGHZxuR0q


Watch Video Solution

13. Which of the following compounds will undergo racemisa- tion when

solution of KOH hydrolyses ? 

A. (i) and (ii)

B. (ii) and (iv)

C. (iii) and (iv)

D. (iv)

Answer: D

View Text Solution

14. In the reaction with HCl, an alkene reacts in accordance with

Markownikoff's rule to give a product 1-chloro-1-methylcyclohexane. The

possible alkene is:

https://dl.doubtnut.com/l/_nr4LGHZxuR0q
https://dl.doubtnut.com/l/_sYQlZxmk1QTk
https://dl.doubtnut.com/l/_xh3jhuhow6Iw


A. 

B. 

C. (A) and (B)

D. 

Answer: C

Watch Video Solution

15. In an reaction on chiral centres, there is

A. 100% retention

B. 100% inversion

C. 100% racemization

D. inversion more than retention leading to partial recemization.

Answer: D

Watch Video Solution

SN1

https://dl.doubtnut.com/l/_xh3jhuhow6Iw
https://dl.doubtnut.com/l/_IjP7qTOUS9gi


16. Which of the following reaction(s) can be used for the preparation of

alkyl halides? 

(I)  


(II)  


(III)  


(IV) 

A. (IV) only

B. (III) and (IV) only

C. (I), (III) and (IV) only

D. (I) and (II) only

Answer: C

Watch Video Solution

CH3CH2OH + HCl
anhyd.ZnCl2
−−−−−−−→

CH3CH2OH + HCl →

(CH3)3COH + HCl →

(CH3)2CHOH + HCl
anhyd.ZnCl2
−−−−−−−→

https://dl.doubtnut.com/l/_IjP7qTOUS9gi
https://dl.doubtnut.com/l/_GsclKuxa8693


17. Which of the following is the most correct electron displacement for a

nucleophilic reaction to take place?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

18. The reaction of  with HBr produces :

A. 

B. 

C. 

C6H5CH = CHCH3

C6H5CH2CH2CH2Br

C6H5C
∣

Br

HCH2CH3

https://dl.doubtnut.com/l/_0vmzvQ7e4Wp4
https://dl.doubtnut.com/l/_dx0muerwW6ts


D. 

Answer: C

Watch Video Solution

C6H5C
∣

Br

H2CHCH3

19. In which of the following compounds, the C-Cl bond ionisation shall

give most stable carbonium ion?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_dx0muerwW6ts
https://dl.doubtnut.com/l/_iVbo1HiYEcfO


20. What is the possible number of stereoisomerism for 2,3-

dibromobutane?

A. 2

B. 4

C. 0

D. 3

Answer: D

Watch Video Solution

21. Which of the following organohalogen compound when heated with

alcoholic KOH does not undergo dehydrohalogenation reaction :

A. Secondary butyl chloride

B. Isopropyl chloride

C. Neopentyl chloride

https://dl.doubtnut.com/l/_gcI3JfTMgKDI
https://dl.doubtnut.com/l/_vAr3PlUL1Ce8


D. Isobutyl chloride

Answer: C

Watch Video Solution

22. Consider the reaction : 

 


This reaction will be the fastest in :

A. ethanol

B. methanol

C. N, N' -dimethylformamide (DMF)

D. water.

Answer: C

Watch Video Solution

CH3CH2CH2Br + NaCN → CH3CH2CH2CN + NaBr

https://dl.doubtnut.com/l/_vAr3PlUL1Ce8
https://dl.doubtnut.com/l/_AsVbCbD7KHBy
https://dl.doubtnut.com/l/_viCMBoOIUkZp


23. Which of the following biphenyls is optically active?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

24. Identify A and predict the type of reaction. 

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_viCMBoOIUkZp
https://dl.doubtnut.com/l/_PSzCfh93etrP


Answer: D

View Text Solution

25. Hydrocarbon  reacts with bromine by substitution to form an alkyl

bromide which by Wurtz reaction is converted to gaseous hydrocarbon

containing less than four carbon atoms  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(A)

(A)

CH ≡ CH

CH2 = CH2

CH3 − CH3

CH4

https://dl.doubtnut.com/l/_PSzCfh93etrP
https://dl.doubtnut.com/l/_silNT5vm9WNy


26. The compound  undergoes the following reactions : 


 


The product 'C' is

A. m-bromotoluene

B. o-bromotoluene

C. 3-bromo-2,4,6-trichlorotoluene

D. p-bromotoluene

Answer: A

Watch Video Solution

C7H8

C7H8

3Cl2 / Δ
−−−−→ A

Br2 /Fe
−−−−→ B

Zn/HCl

−−−−→ C

27. Among the following the reaction that produce through an

electrophilic substitution is :

A. 

B. 

https://dl.doubtnut.com/l/_k1vpPtv9upPD
https://dl.doubtnut.com/l/_pLtXiVBTlzUw


C. 

D. 

Answer: C

Watch Video Solution

28. Consider the following bromides: 

 

The correct order of  reactivity is:

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

SN1

C > B > A

A > B > C

B > C > A

B > A > C

https://dl.doubtnut.com/l/_pLtXiVBTlzUw
https://dl.doubtnut.com/l/_2V6Wr5XrW8dl


29. The alkene that will give the same product with HBr in the presence as

well as in the presence of peroxide is

A. 2-butene

B. 1-butene

C. propene

D. 1-hexene

Answer: A

Watch Video Solution

30. When 3-phenylpropene reacts with HBr in the presence of peroxide,

the major product formula is:

A. 2-bromo-1-phenylpropane

B. 1,2-dibromo-3-phenylpropane

https://dl.doubtnut.com/l/_2V6Wr5XrW8dl
https://dl.doubtnut.com/l/_pbunxYtBDYWt
https://dl.doubtnut.com/l/_U43sBl2sDsTy


C. 3-(o-bromophenyl)propene

D. 1-bromo-3-phenylpropane

Answer: D

Watch Video Solution

31. By passing excess of (g) in boiling toluene, which one of the

following compounds is exclusively formed?

A. 

B. 

Cl2

https://dl.doubtnut.com/l/_U43sBl2sDsTy
https://dl.doubtnut.com/l/_0ivWpo48ED9p


C. 

D. 

Answer: D

View Text Solution

32. How many chiral compounds are possible on monochlorination of 2-

methyl butane

A. 2

B. 4

https://dl.doubtnut.com/l/_0ivWpo48ED9p
https://dl.doubtnut.com/l/_B7LAJ7KdvP5T


C. 6

D. 8

Answer: A

Watch Video Solution

33. A solution of ( + )-1-chloro-1-phenylethane in t toluene racemises

slowly in the presence of a small amount of  due to the formation

of

A. free radical

B. carbanion

C. carbene

D. carbocation

Answer: D

Watch Video Solution

SbCl5

https://dl.doubtnut.com/l/_B7LAJ7KdvP5T
https://dl.doubtnut.com/l/_6hqJDJfT8pl0


34. An alkyl bromide (X) reacts with sodium in ether to form 4,5-

diethyloctane. The compound 'X' is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3(CH2)3Br

CH3(CH2)5Br

CH2(CH2)3CH(Br)CH3

CH3 − (CH2)2 − CH(Br) − CH2 − CH3

35. In  reaction, the correct order of reactivity for following

compounds 

 is

A. 

SN2

CH3Cl, CH3CH2Cl, (CH3)2CHCl, (CH3)3C − Cl

(CH3)2CHCl > CH3CH2Cl > CH3Cl > (CH3)3CCl

https://dl.doubtnut.com/l/_6hqJDJfT8pl0
https://dl.doubtnut.com/l/_xFuznWdNJwmu
https://dl.doubtnut.com/l/_36lWZKhwf0HY


B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3Cl > (CH3)2CHCl > CH3CH2Cl > (CH3)3CCl

CH3Cl > CH3CH2Cl > (CH3)2CHCl > (CH3)3CCl

CH3CH2Cl > CH3Cl > (CH3)2CHCl > (CH3)3CCl

36. In the reaction 

 

The product (E) is

A. 

B. 

C. 

D. 

Answer: A

https://dl.doubtnut.com/l/_36lWZKhwf0HY
https://dl.doubtnut.com/l/_QvFJraQwZAFK


View Text Solution

37. The synthesis of alkyl fluoride is best accomplished by:

A. Finkelstein reaction

B. Swart's reaction

C. Free radical fluorination

D. Sandmeyer's reaction.

Answer: B

Watch Video Solution

38. The hydrolysis of optically active 2-bromobutane with aqueous NaOH

result in the formation of :

A. (-)-butan-2-ol

B. ( )-butan-2-ol±

https://dl.doubtnut.com/l/_QvFJraQwZAFK
https://dl.doubtnut.com/l/_YdRFEuUxauie
https://dl.doubtnut.com/l/_ToV27rqi8OI7


C. (+)-butan-2-ol

D. ( )-butan-1-ol

Answer: B

Watch Video Solution

±

39.  

The product of the above reaction is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_ToV27rqi8OI7
https://dl.doubtnut.com/l/_jO4coAMSpC5C
https://dl.doubtnut.com/l/_EMq28Qk89yaq


40. The absolute configuration of  is

A. (2R, 3S)

B. (2S, 3R)

C. (2S, 3S)

D. (2R, 3R)

Answer: B

View Text Solution

41. 2-chloro-2-methylpentane on reaction with sodium methoxide in

methanol yields: 

(a)  (b)  (c) 

A. all of these

C2H5CH2

CH3

∣

C
∣

CH3

− OCH3 C2H5CH2 C
∣

CH3

= CH2

C2H5CH2 = C
∣

CH3

− CH3

https://dl.doubtnut.com/l/_EMq28Qk89yaq
https://dl.doubtnut.com/l/_S0dUzpr4sMYN


B. (I) and (III)

C. III only

D. I and II

Answer: A

Watch Video Solution

42. The major product obtained by the addition reaction of HBr to 4-

methylpent-1-ene in the presence of peroxide is:

A. 1-bromo-4-methylpentane

B. 4-bromo-2-methylpentane

C. 2-bromo-4-methylpentane

D. 3-bromo-2-methylpentane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_S0dUzpr4sMYN
https://dl.doubtnut.com/l/_WurBfCMmd6KD


43. The major product P formed in the following reaction is 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

44. The increasing order of reactivity of the following halides for the 

reaction is 

I.  


 


III. 

SN1

CH3CH(CI)CH2CH3

II. CH3CH2CH2Cl

p. − H3CO − C6H4 − CH2Cl

https://dl.doubtnut.com/l/_WurBfCMmd6KD
https://dl.doubtnut.com/l/_WLsjk1OtzZzS
https://dl.doubtnut.com/l/_08PqJDi4vUuj


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(III) < (II) < (I)

(II) < (I) < (III)

(I) < (III) < (II)

(II) < (III) < (I)

45. 3-methyl-pent-2-ene on reaction with HBr in presence of peroxide

forms an addition product. The number of possible stereoisomers for the

product is

A. Six

B. Zero

C. Two

D. Four

https://dl.doubtnut.com/l/_08PqJDi4vUuj
https://dl.doubtnut.com/l/_6nK6OZeSkxC3


Answer: D

Watch Video Solution

46. The major product obtained in the following reaction is: 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

( ± )C6H5CH(OtBu)CH2C6H5

C6H5CH = CHC6H5

( + )C6H5CH(OtBu)CH2C6H5

( − )C6H5CH(OtBu)CH2C6H5

47. The major product of the following reaction is : 

https://dl.doubtnut.com/l/_6nK6OZeSkxC3
https://dl.doubtnut.com/l/_hdMvhEqdmi7F
https://dl.doubtnut.com/l/_hihTUtenI5b9


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

48. Tertiary alkyl halides are practically inert to substitution by 

mechanism because of –

A. insolubility

B. instability

C. inductive effect

D. steric hindrance.

Answer: D

S2
N

https://dl.doubtnut.com/l/_hihTUtenI5b9
https://dl.doubtnut.com/l/_bNkN3guwgaHE


Watch Video Solution

49. The number of possible organobromine compounds which can be

obtained in the allylic bromination of 1 - butene with N -

bromosuccinimide is

A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

50. Which of the following halides undergoes hydrolysis on warming with

 NaOH?water/aqueous

https://dl.doubtnut.com/l/_bNkN3guwgaHE
https://dl.doubtnut.com/l/_4OX3hFvmz6iM
https://dl.doubtnut.com/l/_ZriPGARDxfLd


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

51. The compound having longest  bond is

A. 

C − Cl

https://dl.doubtnut.com/l/_ZriPGARDxfLd
https://dl.doubtnut.com/l/_keHa6Ya4vmQs


B. 

C. 

D. 

Answer: B

Watch Video Solution

52. The alkyl halides require to prepare  by Wurtz reaction are

https://dl.doubtnut.com/l/_keHa6Ya4vmQs
https://dl.doubtnut.com/l/_zoyfpqF4YEcX


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

53. The neopentyl halide in ethanol yields alkenes by  mechanism due

to

A. low concentration of solvent

B. absence of base

C. it is a primary halide

D. steric factor which prevents  mechanism

Answer: D

E1

E2

https://dl.doubtnut.com/l/_zoyfpqF4YEcX
https://dl.doubtnut.com/l/_fDbSymyTW6Cw


View Text Solution

54. The major product of the following reaction is : 

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

55. Increasing order of reactivity of the following compounds for 

substitution is : 

SN1

https://dl.doubtnut.com/l/_fDbSymyTW6Cw
https://dl.doubtnut.com/l/_mKJTEjZWi10b
https://dl.doubtnut.com/l/_fvtUKyKg0Y5j


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

(B) < (C) < (D) < (A)

(A) < (B) < (D) < (C)

(B) < (A) < (D) < (C)

(B) < (C) < (A) < (D)

56. Heating of 2-chloro-1-phenylbutane with EtOK/EtOH gives X as the

major product. Reaction of X with  followed by gives Y

as the major product. Y is :

A. 

B. 

C. 

D. 

Hg(PAc)2 /H2O

https://dl.doubtnut.com/l/_fvtUKyKg0Y5j
https://dl.doubtnut.com/l/_vSyBpO5PO3Xr


Answer: D

Watch Video Solution

57. The major product of the following reaction is : 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

58. The correct IUPAC name of the following compound is: 

https://dl.doubtnut.com/l/_vSyBpO5PO3Xr
https://dl.doubtnut.com/l/_O4CM52ctOJKb
https://dl.doubtnut.com/l/_WfqdYgtGGrps


A. 5-chloro-4-methyl-1-nitrobenzene

B. 2-methyl-5-nitro-l-chlorobenzene

C. 3-chloro-4-methyl-1-nitrobenzene

D. 2-chloro-1-methyl-4-nitrobenzene

Answer: D

View Text Solution

59. The major product 'Y' in the following reaction is : 

A. 

B. 

C. 

D. 

Answer: C

https://dl.doubtnut.com/l/_WfqdYgtGGrps
https://dl.doubtnut.com/l/_pvu4uZoFXUe2


View Text Solution

60. The major product of the following reaction is : 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

61. The correct statement(s) about the compound given below is (are): 

A. The compound is optically active

https://dl.doubtnut.com/l/_pvu4uZoFXUe2
https://dl.doubtnut.com/l/_0RdeN6XfXlcU
https://dl.doubtnut.com/l/_4mQDeyFMOSCn


B. The compound possesses centre of symmetry

C. The compound possesses plane of symmetry

D. The compound possesses axis of symmetry

Answer: A

View Text Solution

62. KI in acetone, undergoes  reaction with each of P, Q, R and S. The

rates of the reaction vary as 

A. 

B. 

C. 

D. 

Answer: B

SN2

P > Q > R > S

S > P > R > Q

P > R > Q > S

R > P > S > Q

https://dl.doubtnut.com/l/_4mQDeyFMOSCn
https://dl.doubtnut.com/l/_ET8cwW7BP8a2


C Multiple Choice Questions With More Than One Correct Answers

View Text Solution

63. In the following reaction, the major product is 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

1. Dipole moment is shown by

https://dl.doubtnut.com/l/_ET8cwW7BP8a2
https://dl.doubtnut.com/l/_Jlml1hlW4JFj
https://dl.doubtnut.com/l/_now9kp1ZUlx1


A. Benzoyl chloride

B. cis-1, 2-dichloroethene

C. trans-1, 2-dichloroethene

D. trans -1, 2-dichloropent-2-ene

Answer: A::B::D

View Text Solution

2.  Iodoform + Sod. Succinate In the above sequence A can be

A. Pentane -2-one

B. Acetophenone

C. Hexane-2,5-dione

D. 4-keto pentanoic acid

Answer: C::D

Watch Video Solution

A
I2 /NaOH

−−−−−→

https://dl.doubtnut.com/l/_now9kp1ZUlx1
https://dl.doubtnut.com/l/_jR2fPKsKSUzz


3. Benzylchloride  can be prepared from toluene by

chlorination with :

A. 

B. 

C. , hv

D. NaOCl.

Answer: A::C

Watch Video Solution

(C6H5CH2Cl)

SO2Cl2

SOCl2

Cl2

4. A new carbon-carbon bond formation is possible in the following

:

A. 

B. 

reaction/reactions

C6H6 + CH3Cl
AlCl3
−−→

CH3CH2Br + CH3CH2NH2 →

https://dl.doubtnut.com/l/_jR2fPKsKSUzz
https://dl.doubtnut.com/l/_Yhqc15DbLCKS
https://dl.doubtnut.com/l/_BYF7n5frC7jH


C. 

D. 

Answer: A::D

Watch Video Solution

CH3CH2Br + Na+ −OCH3 →

CH3CH2Br + KCN(alc. ) →

5. Which of the following statements are correct ?

A. Benzyl halides are more reactive than vinyl and aryl halides

B. Vinyl halides are more reactive than alkyl halides

C. Aryl halides are less reactive than alkyl halides

D. Aryl halides are more reactive than benzyl halides

Answer: B::C

Watch Video Solution

https://dl.doubtnut.com/l/_BYF7n5frC7jH
https://dl.doubtnut.com/l/_jxyx7vrltDUa


6. Which of the following contain  hybridised carbon bonded to X?

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

sp2

CH2 = CH − CH2 − X

7. Compound(s) that on hydrogenation produce(s) optically inactive

compound(s) is(are)

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_d4yykJ9Ito5p
https://dl.doubtnut.com/l/_ZyK6c7aimoNY


Answer: B::D

View Text Solution

8. The IUPAC name(s) of the following compound is (are) 

A. 1-chloro-4-methylbenzene

B. 4-chlorotoluene

C. 1-methyl-4-chlorobenzene

D. 4-methylchlorobenzene.

Answer: A::B

View Text Solution

9. For the following compounds, the correct statement(s) with respect to

nucleophilic substitution reactions is (are) 

https://dl.doubtnut.com/l/_ZyK6c7aimoNY
https://dl.doubtnut.com/l/_MblaTM8n0vMB
https://dl.doubtnut.com/l/_vgKgcxKBLONF


A. I and II follow  mechanism

B. compound IV undergoes inversion of configuration

C. the order of reactivity for I, III, and IV is : 

D. I and III follow  mechanism.

Answer: A::B::D

View Text Solution

SN2

IV > I > III

SN1

10. Choose the correct option(s) that give(s) an aromatic compound as

the major product.

A. 

B. 

C. 

https://dl.doubtnut.com/l/_vgKgcxKBLONF
https://dl.doubtnut.com/l/_f3icSyWX7Oht


D Multiple Choice Questions Based On The Given Passage Comprehension

D. 

Answer: A::B

View Text Solution

1. Alkyl halides undergo nucleophilic substitution reactions in which

halogen atom is replaced by other atom. 

 


These reactions follow  and  type mechanism, in which  takes

place in two steps while  takes place in single step. Due to their

tendency to undergo substitution by a large number of nucleophiles,

they form a variety of products. 

In which of the following pairs, the first nucleophile is stronger?

A. 

RX + Nu : − → Nu − R + X −

SN1 SN2 SN1

SN2

Cl− , I −

https://dl.doubtnut.com/l/_f3icSyWX7Oht
https://dl.doubtnut.com/l/_KCJBV3t1mjd5


B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3OH, CH3S
−

(CH3CH2)2NH, (CH3CH2)3N

(CH3)2O, (CH3)3N

2. Alkyl halides undergo nucleophilic substitution reactions in which

halogen atom is replaced by other atom. 

 


These reactions follow  and  type mechanism, in which  takes

place in two steps while  takes place in single step. Due to their

tendency to undergo substitution by a large number of nucleophiles,

they form a variety of products. 

Which of the following is least reactive towards  mechanism ?

A. 

B. 

RX + Nu : − → Nu − R + X −

SN1 SN2 SN1

SN2

SN2

(CH3)2CHCH2Br

(CH3)3CBr

https://dl.doubtnut.com/l/_KCJBV3t1mjd5
https://dl.doubtnut.com/l/_WCj8J6WzJPPj


C. 

D. 

Answer: B

Watch Video Solution

CH3CH2Br

(CH3)2CHBr

3. Alkyl halides undergo nucleophilic substitution reactions in which

halogen atom is replaced by other atom. 

 


These reactions follow  and  type mechanism, in which  takes

place in two steps while  takes place in single step. Due to their

tendency to undergo substitution by a large number of nucleophiles,

they form a variety of products. 

In which of the following pairs, the first compound is better 

substrate ?

A. 1-bromo-1-methyl cyclohexane, cyclohexyl bromide

B. 1-iodo-2, 2-dimethyl propane, isopropyl iodide

RX + Nu : − → Nu − R + X −

SN1 SN2 SN1

SN2

SN2

https://dl.doubtnut.com/l/_WCj8J6WzJPPj
https://dl.doubtnut.com/l/_H2dqMJ8ikO9d


C. 2, 2,-dimethyl-1-chlorobutane, 2-chloro butane

D. isopropyl bromide, 2-bromobutane

Answer: D

Watch Video Solution

4. Alkyl halides undergo nucleophilic substitution reactions in which

halogen atom is replaced by other atom. 

 


These reactions follow  and  type mechanism, in which  takes

place in two steps while  takes place in single step. Due to their

tendency to undergo substitution by a large number of nucleophiles,

they form a variety of products. 

In which of the following nucleophilic substitution reaction, the product

formed is racemic mixture ?

A. 

B. 

RX + Nu : − → Nu − R + X −

SN1 SN2 SN1

SN2

(CH3)3CBr

CH3CH2Br

https://dl.doubtnut.com/l/_H2dqMJ8ikO9d
https://dl.doubtnut.com/l/_p7uPNzlwYwPB


C. 

D. 

Answer: A

Watch Video Solution

(CH3CH2)2CHBr

C6H5CH2Br

5. Alkyl halides undergo nucleophilic substitution reactions in which

halogen atom is replaced by other atom. 

 


These reactions follow  and  type mechanism, in which  takes

place in two steps while  takes place in single step. Due to their

tendency to undergo substitution by a large number of nucleophiles,

they form a variety of products. 

Which of the following has highest nucleophilicity?

A. 

B. 

C. 

RX + Nu : − → Nu − R + X −

SN1 SN2 SN1

SN2

SH −

H2O

OH −

https://dl.doubtnut.com/l/_p7uPNzlwYwPB
https://dl.doubtnut.com/l/_fqiUKONxlNQA


D. 

Answer: A

Watch Video Solution

F −

6. A chloro derivative (A) on treatment with zinc - copper couple gives a

hydrocarbon with five C atoms. When 'A' is dissolved in ether and treated

with sodium, 2,2,5,5-tetramethyl hexane is obtained. What is the original

compound 'A' ?

A. 1-chloro-2, 2-dimethyl propane

B. 1-chloro-2, 2-dimethyl butane

C. 1-chloro-2-methyl butane

D. 2-chloro-2-methyl butane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fqiUKONxlNQA
https://dl.doubtnut.com/l/_rw8O8EOVA704


7. A chlorocompound (A) on reduction with Zn-Cu and ethanol gives the

hydrocarbon (B) with five carbon atoms. When (A) is dissolved in dry ether

and treated with sodium metal it gave 2,2,5,5,-tetramethylhexane. The

treatment of A as 

 


The reaction of C with Na,  gives

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A
alc .KCN
−−−−−→ C

C2H5OH

(CH3)3CCH2CONH2

(CH3)3CNH2

(CH3)3CCH2NH2

(CH3)2CHCH2NH2

8. A chlorocompound (A) on reduction with Zn-Cu and ethanol gives the

hydrocarbon (B) with five carbon atoms. When (A) is dissolved in dry ether

https://dl.doubtnut.com/l/_72p4ssqzy7UQ
https://dl.doubtnut.com/l/_UrGpKJ8CH1zD


and treated with sodium metal it gave 2,2,5,5,-tetramethylhexane. The

treatment of A as 

 


The reaction of C with Na,  is called

A. Gilman reaction

B. Mendius reaction

C. Grooves process

D. Swart's reaction

Answer: B

Watch Video Solution

A
alc .KCN
−−−−−→ C

C2H5OH

9. A chlorocompound (A) on reduction with Zn-Cu and ethanol gives the

hydrocarbon (B) with five carbon atoms. When (A) is dissolved in dry ether

and treated with sodium metal it gave 2,2,5,5,-tetramethylhexane. The

treatment of A as 

https://dl.doubtnut.com/l/_UrGpKJ8CH1zD
https://dl.doubtnut.com/l/_iqSYZZ4hG1sS


Integer Type Questions

 


The reation of A with aq. KOH will preferably favour

A.  mechanism

B.  mechanism

C.  mechanism

D.  mechanism

Answer: A

Watch Video Solution

A
alc .KCN
−−−−−→ C

SN1

SN2

E1

E2

1. The number of compounds showing enantiomers among the following

compounds is 

Butan-2-ol, 2-Hydroxypropanoic acid, 2-Methylhexane, 2-Chlorobutane, 2-

Bromo-2-chlorobutane, 

2-Methylbutanoic acid, isopropyl chloride

https://dl.doubtnut.com/l/_iqSYZZ4hG1sS
https://dl.doubtnut.com/l/_xcwR7xlvIFKc


Watch Video Solution

2. The number of reactions proceeding through free radical mechanism

are 

(i)  


(ii)  


(iii)  


(iv)  (peroxides) 


(v)  


(vi) (peroxide) 


(vii)  


(viii)  


(ix) 

Watch Video Solution

C2H5Br + Na+ −OCH3

C2H5Br + AgCN

C6H5CH3 + Cl2(hv)

CH3CH = CH2 + HBr

C2H5Br + alc. KOH

CH3CH = CH2 + HCl

C2H5Br + H2(NiorPd)

C2H6 + Cl2(hv)

C2H5Br + NaSH

3. In how many pairs the first compound reacts faster than the second in

 reaction with  ? 
SN2 OH −

https://dl.doubtnut.com/l/_xcwR7xlvIFKc
https://dl.doubtnut.com/l/_5HtyYbrtTREk
https://dl.doubtnut.com/l/_aHObosFyvUs9


(i)  


(ii)  


(iii)  


View Text Solution

CH3Br, CH3I

CH3CH2Br, (CH3)2CHBr

CH3Cl, (CH3)3CCl

4. The possible number of isomeric alkanes having the molecular formula

 is

Watch Video Solution

C5H11 −

5. The total number of alkenes possible by dehydrobromination of 3-

bromo-3-cyclopentylhexane using alcoholic  is

Watch Video Solution

KOH

https://dl.doubtnut.com/l/_aHObosFyvUs9
https://dl.doubtnut.com/l/_36APwLjYt2Vx
https://dl.doubtnut.com/l/_SuHCGUt4d8Sd


Unit Practice Test

6. In the following monobromination reaction, the number of possible

chiral products is 

View Text Solution

1. The hydrolysis of 2-bromo-3-methylbutane by  mechanism gives

mainly:

A. 2-Methylbutan-1-ol

B. 2-Methylbutan-2-ol

C. 2, 2-Dimethylpropan-2-ol

D. Pentan-1-ol

Answer: B

Watch Video Solution

SN 1

https://dl.doubtnut.com/l/_zYsuGvECOAzz
https://dl.doubtnut.com/l/_j86pd9e9JEuW


2. Butane nitrile can be prepared by heating

A. propyl chloride with alc. KCN

B. butyl chloride with alc. KCN

C. propyl chloride with alc. AgCN

D. butyl chloride with alc. AgCN

Answer: C

Watch Video Solution

3. The correct order of boiling points is

A. 

B. 

C. 

CH3F < CH3Cl < CH3Br < CH3I

CH3F < CH3I < CH3Br < CH3Cl

CH3I < CH3Br < CH3Cl < CH3F

https://dl.doubtnut.com/l/_j86pd9e9JEuW
https://dl.doubtnut.com/l/_9W8UDFCmYPvh
https://dl.doubtnut.com/l/_wUtQ0fn3U4nI


D. 

Answer: D

Watch Video Solution

CH3F < CH3Br < CH3Cl < CH3I

4. Assertion (A) : The nucleophilic substitution of vinylchloride is difficult

as compared to ethyl chloride. 

Reason (R ) : The vinyl group is electron donating in vinyl chloride.

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: A

https://dl.doubtnut.com/l/_wUtQ0fn3U4nI
https://dl.doubtnut.com/l/_SvVMyA86Xn9j


Watch Video Solution

5. Assertion: In the reaction of tert-butyl bromide with aq. KOH, rate

becomes double by increasing the concentration of both aq. KOH and

tert-butyl bromide 

Reason: Rate of reaction is, rate = kſtert butyl bromide) .

A. Assertion and reason both are correct statements and reason is

correct explanation for assertion.

B. Assertion and reason both are correct statements but reason is not

correct explanation for assertion.

C. Assertion is correct statement but reason is wrong statement.

D. Assertion is wrong statement but reason is correct statement.

Answer: B

View Text Solution

[OH − ]

https://dl.doubtnut.com/l/_SvVMyA86Xn9j
https://dl.doubtnut.com/l/_hv3MI5Jg7FKQ


6. Which isomer of  will have the lowest boiling point?

View Text Solution

C4H9Cl

7. Write the formula of the main product formed in the reaction : 

Watch Video Solution

(CH3)2CHCl
Na

−−−−−→
Dry ether

8. Out of  and , which is more easily

hydrolysed by aqueous KOH? Why?

View Text Solution

C6H5CH2Cl C6H5CHCIC6H5

9. How do the products differ when ethyl bromide react with KCN and

AgCN? Give reasons.

Watch Video Solution

https://dl.doubtnut.com/l/_8p6hHxcY2Vyb
https://dl.doubtnut.com/l/_JGe2CuyCOlMX
https://dl.doubtnut.com/l/_PsM4DDiZYjJA
https://dl.doubtnut.com/l/_zlihqoyhdo90


10. How will you convert: 

(a) Ethyl chloride to propanoic acid. 

(b) 1-Bromopropane to 2-bromopropane 

(c) tert-butyl bromide to isobutyl bromide

Watch Video Solution

11. (a) Why are haloarenes less reactive than haloalkanes? Explain. 

(b) Predict the alkenes that would be formed by dehydrohalogenation of

the following halides with sodium ethoxide in ethanol and predict the

major alkene: 

(i) 2-Chloro-2-methylbutane 

(ii) 3-bromo-2, 2, 3-trimethylpentane 

(c) How is chlorobenzene prepared from benzenediazonium chloride?

View Text Solution

https://dl.doubtnut.com/l/_zlihqoyhdo90
https://dl.doubtnut.com/l/_iRu5vEdlsS8T
https://dl.doubtnut.com/l/_bd99vV6LDY9l

